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Topic:- GP_Set2_C
1) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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India’s cultural diplomacy is centered around

(A) Ramayan

(B) Multilateral engagements

(C) Business Promotion

(D) People to people contacts

Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (A), (C) and (D) only

(3) (B), (C) and (D) only (4) (B) and (D) only
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(C) =AMR-waHA

(D) =t T
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(1) = (A) 317 (D)
(2) == (A), (C) 31 (D)
(3) ¥ (B), (C) 377 (D)

(4) == (B) #ik (D)

[Question ID = 3557][Question Description = Q46_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13691]
2.2

[Option ID = 13692]
3.3

[Option ID = 13693]
4. 4

[Option ID = 13694]

2) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
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people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets

(B) Yoga

(C) Cricket

(D) Ramayan

(E) Sanskrit

Choose the correct answer from the options given below :



(1) (A) only  (2) (A), (B), (C) and (D) only

(3) (A) and (D) only (4) (A), (B), (D) and (E) only
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3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Which of the following is not reflective of India’s soft power status?

(1) Digital India (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy
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4) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various

layers of society is considerable.

g S, G B 4 & =



s SR L e i Segt R e T e AR L DL E s B Rt S e B L Urs SR By T2 THER e "l o L SRR R e T R L S e T

aRA, w6, J64, 2w, AH-FEEl, M6, FEA-wel, SuE-agid, feEmen i senEd % fava
TEH WS WUSHI H | UF & T9F GHfEG F9 H WY AeFE @0Ea F F9 § 9E A6 2| 96 e
@ F o uva f oostas famae W = o=w 21 e Fi afem W sfEm-gd-uon F me
TEFOF AGH-TEE, THI &A1 il T F TREIE HOEl B OURA Fdl WOR| HHOT &9 F A
Sfra-vgla va gdud w wndE fauEa w1 grE-wae 21 dig gd i e ga-faagan, wgan, =m o
TEE F i TR 3T v 5E v

30 &7 T YA 1 GG § S GOEAT 7| 996 A1 Fi9E FAM A S o gae et 2 e
SR -ATtEea 1 fmwmn i #| @ giav-gd-ufern § THEY S w1 wee g 2

A A ZiAv-gE U e S-Sy sG-S % i TEE 0 THE 2| FEnaE 9 |
HEegW H2F 7 S SAgAEEIE U S4hF 09 1 iHiae FA1 2| T e v e ook oot
ﬂﬁmfﬁémnwﬁ?fﬁlﬁwwm$maﬁmaﬂm$mtﬁ AEH-T5H ® W TeEtEa
WET""T*’I“T"TIEH ﬂTqTrFH WW?W?UHEH@W f"TP'TL |‘1§1H Ta, H‘Ild RIGE
3R AR F &A1 § OFGF TEE-TEE F W A6 T w5 e E

AT i TH -, S WY A -3 B SEm-gH-ueE § aig 5eh 96a #3949 H
e
El':" ’_‘l

o wemrTE 2o 8w afersar (9gE) S R 5 S | Sisdl 21 % U A -
I O S0 2, T e -Hia S ATl Ud Gy A% % 91y, [Hhe ThaieE aggEE & gl

I T B | AR W WEIH R 2 WA FA 2| 9RA T A F e deias
a o = i il * ul [ 23 2 o t B £ Bl

T F 9Pd & A¢ GER-TEH2d si;'“iﬂa . TR -HIET 3 ?IW—_‘—IE_-!T&T'\ T HIEEH H HAHE ¥4 H F'Uﬁ?na,
T 3

qqrﬂ" ol Hﬂ‘fﬁ?’ FAE * ‘gm mf=-fmm w e Ff5a B 21 gEem T, Geee musen i miea
e 1 e fil e # v w0 W dEgy aE-sitkae & fGvaend fTEw f s
[EELCIREA

Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology

(B) Folklore

(C) Tourism

(D) Yoga

(E) Education

Choose the correct answer from the options given below :
(1) (A), (C), (D) and (E) only  (2) (A), (B), (C) and (E) only

(3) (A), (B) and (E) only (4) (B), (C), (D) and (E) only
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1 [Option ID = 13703]
2 [Option ID = 13704]
3 [Option ID = 13705]
4 [Option ID = 13706]
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5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The passage highlights



(1) The emergence of India as a super power

(2) The role of culture for peace and harmonious relations with other countries

(3) India’s cultural hegemony

(4) India’s relations with BRICS countries

T F A e
(1)  9WA T FEEE F = A
(3) WA I TEHAE duar
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Topic:- GP_Set2_A

1) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs z0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% d
October 8% W
November 12% il
December 16% e

FreAitea Ao #1 <9 @ 20 Tomd v fagkan & g =€ 2019 ° feomsw 2019 7% == o B g
% fagmo it wfgemar 9o HP W DELL #maf-=1 & @9+ #i=ta 1 g e @t = i #1 aqem
Fon T 7| g aradt | T adt S @ i 3w @e 45,000 (Farfom wAw) 20 e @ fro o

ATHS o ATIR T UTH T IH A

A1 TR R AT - T e

DELL =i
TS 17% 8:7
T 22% 4:5
Taae 25% 3:2
HFE 2% 7:5
EE=T 12% 7:8
famea 16% 7:9




What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same
company?

(1) 119 : 145 (2) 116 : 135

(3) 119 : 135 (4) 119 : 130

DELL =m0t = g 5eis 331 famean 9 s 72 fafs woorst i g = sgard o= 27

(1) 119:145 (2) 116:135
(3) 119:135 (4 119:130
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2. 2 [Option ID = 13712]
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4. 4 [Option ID = 13714]

2) (Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% &4
August 22% 4:5
September 25% 3:2
October 8% e
November 12% 7:8
December 16% Y

freAifRa @ifer 1 =99 © 2 fags vk faghan & g 978 2019 § faEest 2019 9% 59 U S o
% faao it wlaemar 9 HP =R DELL #0241 =+ @9F 1=t 1 g Fef @t & #m= % omqema
FIET T 7| T st ° e adt sl gt i g wen 45,000 (darfem www) 21 Ao | fag o
TS F HUR T 977 FH I 3

DELL i
JeE 17% 8:7
ST 29% 4:5
T 25% 3:2
AT 8% 7:5
T 12% 7:8
Temw 16% 7:9

If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during
that month were sold without a discount?

(1) 882 (2) 1635

(3) 1638 (4) 885

ST Faren § HP #0091 % 356% el wors gz un s o o1 w6 ade § HP we & e s s




Lisa B3 B o S it e N S

(1) 882 (2) 1635
(3) 1638 (4) 835

[Question ID = 3563][Question Description = Q02_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4. 4 [Option ID = 13718]

3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% &9
Augusat 22% 4:5
September 25% 3:2
October 8% e ]
November 12% il
December 16% Y

feAifeRa Aifer 1 w9 ° 2d fams vk faghan & g7 9o 2019 ° faEmst 2019 9% 5= 70 FSf T
% faawo 1 ufaemar a1 HP @in DELL w21 % @9 siata 5 fafia Fef ot & = #1 smoa
FaItEr T 7| g st | e adt fsf gt i s we 45,000 (darfem wew) 21 e | fag e
STHS *F HUR T T77 H I 3

DELL i
JeE 17% 8:7
ST 29% 4:5
e 25% 3:2
AFZAT 8% 7:5
T 12% 7:8
Temr 16% 7:9

If the dealer earned a profit of Rs. 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?

(1) 6,49,900 (2) 6,45,900

(3) 6,49,400 (4) 6,49,500

3R 3Tgst % oo™ DELL S0 & fashar o wedsh [ @k o5 %, 433 0 @ Wi fRa 9 29 e

3§ et 1 v e firem ?

(1) £ 6.49.900 (2) ¥6.45.900
(3) 16.49.400 (4) ¥6,49.500

[Question ID = 3564][Question Description = Q03_GP_20NOV_S2_SHAAN_Shift2]



1 [Option ID = 13719]
2 [Option ID = 13720]
3 [Option ID = 13721]
4 [Option ID = 13722]

N wnN -

4)  Consider the following table that shows the percentaze (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs z0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together iz 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% e
October 8% ih
November 12% il
December 16% e

AT aifern 1 & © 2 fogd vk faghar & grr 9enms 2019 © fa@est 2019 9% == 7o FHsft g
% faawor 1 ufqemar a1 HP #in DELL w3t = a9 sty 9 fafim fefi et = = #1 s
Zon T 2| g st | T adft S @ i 5w @e 45,000 (Fartom wAR) 20 e § f2o o
FTHS % ATUE T YTF H I G

DELL i
I 17% 8:7
T 29% 4:5
e 25% 3:2
ATz 8% 7:5
AT 12% 1:8
famr 16% 7:9

The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company
HP during December?

(1) 110% (2) 140%

(3) 150% (4) 130%

A % BAH § HP 001 % g o9 70 1 S 61 5 [5Esn % 5eH § HP #eE] % grl e T

(D 110% (2)y 140%
(3) 150% (4) 130%

[Question ID = 3565][Question Description = Q04_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13723]
2. 2 [Option ID = 13724]
3. 3 [Option ID = 13725]
4. 4 [Option ID = 13726]

5) Consider the following table that shows the percentaze (%) distribution of the number of



Fersonal Lomputers (Fws) solda by a dealer Irom «July 1o December-<U1Y and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% &9
Augusat 22% 4:5
September 25% 3:2
October 8% e ]
November 12% il
December 16% i)

AT aifern 1 w9 © 2 fogd ek faghar & gy 9ems 2019 © faaest 2019 9% 5= 7o FHsft Fmoe
% faawor 1 ufqemar a1 HP #in DELL w3t = a9 sty 9 fafim fefi et = = #1 s
ZIET T B | T At g e et fef g & 3w 45,000 (dETiem wEw) 2| Ao § i o
FTHS % ATUE T YTF H I G

DELL i
I 17% 8:7
T 29% 4:5
e 25% 3:2
ATz 8% 7:5
EE=T 12% 7:8
famr 16% 7:9

What is the total number of PCs sold by Company DELL during August and September together?
(1) 10000 (2) 15000
(3) 10500 (4) 9500

3T wE T g 98l § DELL #00 * gr & T et 5 Sorni i g e 27

(1) 10000 (2) 15000

(3) 10500 (4) 9500

[Question ID = 3566][Question Description = Q05_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13727]
2.2

[Option ID = 13728]
3.3

[Option ID = 13729]
4. 4

[Option ID = 13730]



Topic:- GP_Set2_B

1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

forer = 3w war T eTTeTEATeR S 9= % 399 1 GEAY HEE A 27

(1) fdw®m (2) AT T
(3) famefi-fa=7 = (4) w=ET = T

[Question ID = 3567][Question Description = Q06_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13731]
2. 2 [Option ID = 13732]
3. 3 [Option ID = 13733]
4. 4 [Option ID = 13734]

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher
task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given
below :

(1) (A), (B) and (C) only (2) (A), (C) and (D) only
(3) (B), (C) and (D) only (4) (C), (D) and (E) only

frfafias fafmea 3 & %9 = =Een w9 e o T 2
(A) ==

(B) forerm—Fr-qaifaee

(C)  =ew Tafasman

(D) TB-TqEa

(E) Yazas

F= f2u v fawe B | wE 39w 99 A

(1) = (A). (B) 37 (C)
(2) A (A). (C) 31 (D)
(3)  =Ad (B). (C) 3 (D)
(4) = (C). (D) #W (E)

[Question ID = 3568][Question Description = Q07_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13735]
2.2

[Option ID = 13736]
3.3

[Option ID = 13737]
4. 4

[Option ID = 13738]

3) Match List | with List Il gives their characteristic features.

List | List Il

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation (I) Compares one student with another student

(B) Summative Evaluation (ll) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (lll) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (IV) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A)-(1V), (B)-(1), (C)-(1), (D)-(I) ~ (2) (A)-(lin), (B)-(IV), (C)-(IN), (D)-(D)



(3) (A)-(I), (B)-(D), (C)-(1), (D)-(IV)  (4) (A)-(), (B)-(I), (C)-(IV), (D)-(Il)

TH1-1 % |1y geAi-11 =7 e Fifsm) 9o =t goar i fatie aglaat 1 2, 938 5 o 55 =it
e i 2| g1 v gL e

-1 711
TeTFA-Tgh e
(A)  Tmiome e (D) v feemeft 1 g famnefi & gemn Fa 2
(B) HHEHTHF Hoaia (1D v% faemsff i oo @ foifm == @
Al 2|
(C) Fr=w i gearsa (ITT) wome: wfem 6 afamon w3 @9zE %
ECtRE
(D) wEF T goar (IV) wymg: Fuus wifg & g 29 096
& 21

A fou v famegt @ ® @ 3T W =8 i

(1) (A)-(IV). (B)-(III), (C)-(I). (D)~(II)
(2) (A)-(TID), (B)-IV). (C)-(II), (D)-(I)
(3) (A)-II), (B)-(D). (C)-(III). (D)-(IV)
(4) (A)-(D), (B)-(ID). (C)-(IV), (D)-(IIT)

[Question ID = 3569][Question Description = Q08_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4. 4 [Option ID = 13742]

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living.

Statement Il : According to reconstructionist view of education the new social order must be ‘genuinely democratic’.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

I 21 Fya faw o B

F94 (D) : e = st (wifaefiar) 2o =1 o geya fogea & & e 9= asfifa f
AT T wAg 7w 99 W E o SfE wET =

F (1) v < yEEOEE] e g % smER = gt see My w9 8 gErieen
_F:ﬁ"l El Eo':"\

I HE * ATAF °, = 5w e 9 9 e 3w = il

(1) = () =18 (1) 341 72 &

(2)  FE (1) R (1) 3 3793 7

(3) e (I) &eF 3, wtF = (1) /e 2
(4) e (I) 3@ 2, AfF= Fom (1) ¥ 2

[Question ID = 3570][Question Description = Q09_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13743]
2. 2 [Option ID = 13744]
3. 3 [Option ID = 13745]
4. 4 [Option ID = 13746]

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’.



Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

Hi= 3 wuA 5 T F ;. uw AfYwYT (Assertion A) % ®9 # feffiga & af ?HEHEEWW (Reason R) &
w0 H :

AR (A) foem, feE vd wIfaTEEAl % ASY AHIATHS UH AR fAEr R HHEE
FIAT B, ¥ T2 AT v uiEr g fium )
A (R) R o1 o s b Mt A B o | A B et e R e e ) e ]

IR A AT °, = fon T et § 9 e ST 3 S =E i

(1) (A it (R) ZHT =2 & 3fi (R). (A) = @@l = 2

(2)  (A) R (R)FA FE E, T (R), (A) F w6 = 1w e
(3) (A &, @A (R) 781 79 =

@) (A= FE R, T (R) T ®

[Question ID = 3571][Question Description = Q10_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13747]
2. 2 [Option ID = 13748]
3. 3 [Option ID = 13749]
4. 4 [Option ID = 13750]

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

freferfas omal 8 @ Frag Ay A i T & T R S 20

(1)  =eT-gva-gard (2) i g
(3)  UARERE ArAAEE (4)  TETIEEE HETE

[Question ID = 3572][Question Description = Q11_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13751]
2. 2 [Option ID = 13752]
3. 3 [Option ID = 13753]
4. 4 [Option ID = 13754]

7) ldentify the main features of ‘qualitative research’ from the following :

(A) It is concerned with understanding the phenomena from the participant’s perspective
(B) It assumes that there are social facts with a single objective reality

(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process

Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only

(3) (B), (C) and (D) only (4) (C), (D) and (E) only

= & ot femreaTett | ©@ Tomen sy i gEe =

(A) =g glawrl = giss o "o % SEEy ° gesiad gl
(B)  3HE 7% AT W1 2 HETE A27 Faw OF e e ¥ 5 B
(C)  ivamefl adm T e feafEn § fe A A 2

(D)  =eneff gewE o = % AU o9 ST W AemEE I g A o Al

(E)  3o# wome wd sE-gERaT 291 °§ ST 5 2

Hi fau v famewi @ ® @ 3T w1 =84 it

(1) =& (A). (C) 7R (E)



(2)  =&aE (A). (B) 7R (C)
(3) = (B). (C) 3 (D)

(4)  F&E (C). (D) 317 (E)

[Question ID = 3573][Question Description = Q12_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757]
4. 4 [Option ID = 13758]

8) Match List | with List Il :

List I List Il

Methods of research Features emphasized

(A) Experimental (l) Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (Il) Status of facts and conditions are ascertained

(C) Descriptive (lll) A variable is manipulated to see its effect on other variable

(D) Historical (IV) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below :

(1) (A)-(h, (B)-(11), (C)-(lin), (D)-(1V)  (2) (A)-(11), (B)-(1), (C)-(IV), (D)-(ll1)

(3) (A)-(1n), (B)-(IV), (C)-(ID), (D)-(1)  (4) (A)-(IV), (B)-(ll1), (C)-(1), (D)-(11)

=11 F = g=-11 1 Toem Fifsm
-1 T=i-1T
71 TgieE s T
(A) wEFTEEH () AT HEE=AT W 9 od 50 TMAEE
i @i 1 e w A
(B) MM (I) ufifeafaal va awai #1 feafa gHtr=aa i
R 2
(C) =vHHS (ITI) ZH =% 92 U9E @A F o o =90 H 2
T S R
(D) UiTETE (IV) fawe +1 @9 &9 7U Amfs s 9=

= f5u e e B H HE 3 R A i

(1) (A)-(D). (B)-(IT). (C)-(III). (D)-(IV)
(2) (A)-(ID). (B)-(D). (Cy-(IV). (D)-(III)
(3) (A)-(IID), (B)-(IV). (C)-(II). (D)-(I)
4) (A)-(IV). (B)-(IIL). (C)-(I). (D)-(IL)

[Question ID = 3574][Question Description = Q13_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13759]
2. 2 [Option ID = 13760]
3. 3 [Option ID = 13761]
4. 4 [Option ID = 13762]

9) Given below are two statements :

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter.
Statement Il : ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 31w foaw T E

F97 (D) FIEYE H A -TavelNe Uh g HE B % S EE - A S
FT (1) : FEEF % STH Ui = § e diL A, gEe wan B

IYUTF FYF F AEE 0, T B v e # ¥ o 39 %1 == Fifaw




(1) = () =i ID 34 709 &

(2) = (I) 3 (1) 3T 378 2

(3) w9 (1) 73 2, @ =9 (I11) 3190 2

(4) = (1) A5 2, @i w9 (1) #eg 2

[Question ID = 3575][Question Description = Q14_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13763]
2. 2 [Option ID = 13764]
3. 3 [Option ID = 13765]
4. 4 [Option ID = 13766]

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HO) is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

I 3 F9F fRu U ;o wfiweE (Ascertion A) % 9 § foifigd & @ EL =I5 FA0 (Reason R) &

EqH :

R (A) : 5@ Tl afweTar (UHo) iR w4 I 2 Al AqEeEEal f g
(w=r:) == = e R

F (R) : i afeer (vm0) vF mEiTE ufiweT T B AR vE (UE:) '@ ' OF FhEm

TR { #7 qieT Eﬁ?&fh £ affa § o 5 2
ST YA % A o, = fou e fokedt 8§ | awE 9w I o 99 i

(1) (A) =R (R) 3 WA & &7 (R). (A) 7 787 = 2

(2) (&) ¥ (R) 3 HE 2, = R). (A) F H8 = 96 8
(3) (AT E, @ (R) 78 76 =

4) (A TE FE 2, @i (R) wE R

[Question ID = 3576][Question Description = Q15_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13767]
2. 2 [Option ID = 13768]
3. 3 [Option ID = 13769]
4. 4 [Option ID = 13770]

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of
pauses?

(1) Linear Model of Communication (2) Interactional Model

(3) Non-Verbal Cues (4) Para-Language

fr=fafms 4 & Fi9 wmeE @6a F1 A5 33w 7 e smr-wme (fm), = (=), 7 (399)
S fermy (9is) =1 ST e &7

(1) @@= i gisa (2) waEE Tgha
(3)  3THYHIT Tehd (4) U am

[Question ID = 3577][Question Description = Q16_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13771]
2. 2 [Option ID = 13772]
3. 3 [Option ID = 13773]
4. 4 [Option ID = 13774]



12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise.
Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

Fr 21 o fow T 2 oF AfMFEH (Assertion A) F ¥4 H fafEq ® 1 550 30 FEW (Reason R) F
A

HAFA (A) AOEY F Ty § SEURUTeE T Tied W Seed wdl & 9 wfees-uin
(FS-=m) Fed B

F (R): I M FEadTE Sl % A0 991 % || mieem - A A

IO FYA F A 1, A 5w e Tt 3 @ we 9 I # 96d Hie

(1) (A) ¥R (R)7H =4 £ @R (R). (A) F1 =78 =wen 7

(2) () ¥R R) T T4 2, A (R). (A) F1 97 =wen 774 2

(3) (A R, T (R) T 2

(4) (A =E TF 7, witE (R) @R 2

[Question ID = 3578][Question Description = Q17_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13775]
2.2

[Option ID = 13776]
3.3

[Option ID = 13777]
4. 4

[Option ID = 13778]

13) Given below are two statements :

Statement | : Appropriate word choice is an essential of effective oral communication.

Statement Il : Facial expression and postures fall under visual communication.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 31w faw o 2

9 (D) : THTE TTEF T B FEF TES] T AETIE A
Fo (10) : Hifgs 99 w3 G grE-amEn % e 2

I HU F w6, S 2w el 9 8 w39 o= i

(1) = (1) 39 (ID) 21 a9 2
(2 = (D) ok 1) 3 s #
(3) = (1) a2, = = (1) 5190 2

(4) = (1) 76 2, wih e (1) 909 &



[Question ID = 3579][Question Description = Q18_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13779]
2. 2 [Option ID = 13780]
3. 3 [Option ID = 13781]
4. 4 [Option ID = 13782]

14) ldentify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (D) and (E) only

srifefad gt & ® Joge F sranet # 1w -
&) T

(B)  =ufta sgw

(C) == wd foram =i Fzag =

(D) == v R = e ag

(E) T %9

A= f2u v el § | HE 390 w1 =59 S

(1) == (A) 31 (B)
(2) = (B) 37 (O)
(3) & (C) @i (D)
(4) == (D) #R (E)

[Question ID = 3580][Question Description = Q19_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13783]
2.2

[Option ID = 13784]
3.3

[Option ID = 13785]
4. 4

[Option ID = 13786]

15) Match List | with List Il :

List | List Il

Types of Communication Main features

(A) Downward Communication (I) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (Il) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (IV) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(D, (B)-(11), (C)-(1V), (D)-(lI1)  (2) (A)-(11), (B)-(1), (C)-(lD), (D)-(1V)

(3) (A)-(I, (B)-(IV), (C)-(), (D)-(I1)  (4) (A)-(IV), (B)-(llI), (C)-(I), (D)-(1)

-1 = =y -1 =1 foem Fifoe
I THI-1I
HE o TR e fasran
(A)  FrIE EE (I) HE % HEEA H e i ATEYEEdT
W1 A o THET | e 2
(B) 3wt weg (I) FE-TH=77 &d [9F o4 °H uH F9Ent

T T 2



(C)  &ifas weg (IIT) =ame faval v wwenar 6 ofqgfe & @y
=l A 2

(D) Tu-arsd Gy (IV) Tl i oo =1 98 wd-gmEE gEEn
T 7

I 20 U e § W T 398 @ 989 S

(1) (A)-(Dy. (B)-(II). (C)-(IV), (D)-(I1T)
@) (A)-D. (B)-(D). (C)-(IID). (D)-(IV)
(3) (A)-(III). (B)-(IV). (C)-(D). (D)-(II)
@  (A)-AQV). (B)-IID). (C)-AD). (D)-@)

[Question ID = 3581][Question Description = Q20_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3. 3 [Option ID = 13789]
4. 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200
(3) 300 (4) 400

7fg Famea, fawarea =1 25% 2 o oy it i Fm 2 7

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13791]
2. 2 [Option ID = 13792]
3. 3 [Option ID = 13793]
4. 4 [Option ID = 13794]

17) A seller mixes 26 kg rice of a price of Rs. 20/kg, with 30 kg of different variety rice of a price of Rs. 36/kg. He sells
both the mixed rices at Rs. 30/kg. What will be the profit in percentage?

(1) 5% (2) 10%

(3) 15% (4) 20%

s fagar 26 et 9== 5. 20/FFa1 & 27 W wiiz w1 o0 g wEE w30 e == e g e e
354 %, 36/ % 7 W wlEr o1 ok 5w wen fafim gu wmEe w30/ F 3w s 2 I A
=1 faeraan a3 7r 7

(1) 5% (2y  10%

(3) 15% (4) 20%

[Question ID = 3583][Question Description = Q22_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4. 4 [Option ID = 13798]

18) A milk man purchases milk at Rs. X per litre and sells it at Rs. 2X per litre. Still he mixes 2 litres of water with every 6
litre of pure milk. What is his profit percentage?

(1) 33.33 (2) 66.66

(3) 133.33 (4) 166.66

w Fg-Toha 5. X/ = @ W 39 wig 5. 20X/ F @ W Al 2| 99Eg 36 98 2 e o
T 6 e WG g9 § fien Zar 21 36 @ it uiewmken 4 2 7

(1) 33.33 (2) 66.66
(3) 133.33 (4) 166.66

[Question ID = 3584][Question Description = Q23_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13799]
2. 2 [Option ID = 13800]
3. 3 [Option ID = 13801]



4. 4 [Option ID = 13802]

19) The average monthly income of P and Q is Rs. 5,050/-. The average montly income of Q and R is Rs. 6,250/- and that
of P and R is Rs. 5,200. What will be the monthly income of P?

(1) Rs. 3,000/- (2) Rs. 3,500/-

(3) Rs. 4,000/- (4) Rs. 4,500/-

P 3R Q i sitea @i A= 5050 94 &, Q ¥ R =i sit@a @ifesw s 6250 w94 @91 P o R i

ST TE A 5200 ¥ 2| P A oifi ar e g e

(1) 3.000/- =74 (2) 3,500/- =91

(3) 4,000/ %7 (4) 4,500/ 572

[Question ID = 3585][Question Description = Q24_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4. 4 [Option ID = 13806]

20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of
first term?

(1) 15 (2) 20

(3)25 (4) 30

4 GEATAT T FET 20 B 9T TESA WA W 3 GEAST o A7 F 1/ 3 F| TueAl G H AW AR ?

(1) 156 (2) 20
(3) 25 (4) 30

[Question ID = 3586][Question Description = Q25_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13807]
2. 2 [Option ID = 13808]
3. 3 [Option ID = 13809]
4. 4 [Option ID = 13810]

21 ; s : : ; ;
) According to Naiwvayikas we ascertain the relation of umiversal concomitance between x

and v :

(A) We can determine the relation only if we can determine the relation of essential
identity between x and y

(B) By perceiving that in all cases the presence of x 1s accompanied by the presence of ¥

(C) We can determine the relation only if we can determine the relation of cause and
effect between x and v

(D) By not perceiving any instance where the presence of x iz not accompanied by the
presence of ¥ or vice-versa

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (D) and (C) only
(3) (B) and (D) only
(4) (A). (B) and (C) only

FeAaFl % AR =9 x A0 y # AR G w Fee gty #d 2

(A)  x 3R y F o= FUNEE AIEE AT UHeREAl 1 G- GHEd BH W R 56 e B ad
|
(B) =i oftfeuta g x i mfeata % @y y 1 Sufeaia w9 w06 91 99 w1

— 3, - - e s e N - 1 r Fo e T



=H HE-d =Rl 41 HIHIREA = O9d & 99 75 x AN ¥ =6 |9 FwEH—HE0 HEEET HIFE=ED B o

(D)  x Fi sufeafa & wa y Fi sEaetE @y £ sofcafa F @y « Foagefata = 6 f e =

A9 T HH|
4 15U TTu faedl B W HE I 55 Hie

(1) ae (A) 30 (O)

(2)  a= (D) 3R (C)

(3) === (B) 51 (D)

(4) == (A). (B) #AT (C)
[Question ID = 3587][Question Description = Q26_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13811]
2. 2 [Option ID = 13812]

3. 3 [Option ID = 13813]
4. 4 [Option ID = 13814]

22) Match List I with List II ;

List I List IT
(A)  Vyapti (I)'  The property being inferred
(B) Linga (II) Locus of hetu and Sadhya
(C) Sadhva (IIT) Sign or reason
(D) Paksa (IV) Universal concomitance

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(III). (C)-(IT). (D)-(IV)
2 (A)-aD, (B)-AID. (C)-(I). (D)-IV)
(3)  (A)-AV). (B)-(ID). (C)-(T), (D)-I)
@  (A)-AID. (B)-1). (C)-AV). (D)-I)

FHt-1 & =19 gH-11 =1 faam i
el Exig!
(A) =t D TTEE F AT
(B) e (I) 29 =1 =0 1 T4
(C) =1 (III) Hehe HA9=1 FE0]
(D} w& (IV) =rEdtias emiea

=t fou 7o fomeai § @ W 3= w1 == i

(1) (A)-(T). (B)-(III). (C)-(II). (D)-(IV)
{(2) (A)-(ID), (B)-(IIT), (C)-(T). (D)-(IV)
(3) (A)-(IV). (B)-(I1I). (C)-(I). (D)-(II)
(4) (A)-(TIT). (B)-(I). (C)-(IV), (D)-(IT)
[Question ID = 3588][Question Description = Q27_GP_20NOV_S2_SHAAN_Shift2]

1. 1 [Option ID = 13815]
2. 2 [Option ID = 13816]



3. 3 [Option ID = 13817]
4. 4 [Option ID = 13818]

23) (Given below are two statements -
Statement I : According to Claszsical Indian Logic the fallacies (hetvabhaza) are not
errors of inference, but rather hindrances to inference.
Statement 1T : A fallacy 1s really a “seeming reason or mark” (hetvabhasa), which. if

recognized, would prevent the inferential cognition from arizsing.

In the light of the above statements. Choose the correct answer from the options given

below :

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are falzse.
(3) Statement I 1s true but Statement IT 1= false.

(4) Statement I 1s false but Statement II is true.

i 31 = fau w2

F9 (I) : YA g7 TS F STER oA A w1 A Al S0 SEde 2
o (ID) : ECITHTE TG STEE WA S9GT Hhd £ A W SAMESE 7 OA 9 S w5

= U F HEET =

IEIF FUF F AT H, A @00 FEmed § ¥ HE 39 @ 99 i

(1) =¥ (1) 31 (II) 31 &ea 7

(2) = (1) 30 (D) 21 e 7

(3) = () 5e7 2, wifwa % (1) 793 2
(4) A (1) s/me 2, Sifa F9E (1) 97 2

[Question ID = 3589][Question Description = Q28_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13819]
2 [Option ID = 13820]
3 [Option ID = 13821]
4 [Option ID = 13822]

AN wnN -

24) ‘‘All radically egalitarian societies are societies that do not preserve individual liberties’’.

Which of the following statements is true with reference to the above statement?

(1) ‘““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.

(2) ““‘No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.

(3) ““Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.

(4) “‘Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent.

g weft HUAEE THTH UH WA 2 W SAte wEadeIal S Sed T8 a5l SAdiieigd Y 8 8w
I FYF ST % q5d H HA B 7

(1) = off goa. TuaEE T UE @A TR 2 S Fafe Sdea ® @iad a2l 2 weE
=1 47 Ulaatda @ & 1T a1 ®9 9 J9geT 7

(2) F% ff Ooiq: THAEE TS UE GUTS T8l 2 S S4iws Tadea S Sad e 2| 2 T s

P - e %



R Ar Algdidd |99 & AR dii=hsh 9 8 A89HGF &

(3) =% goa: THAEE] WA UH FE 8 S AR S Sad i 2| e T w5 g9g afaed
99 & S a1l =9 ° g9H 2|
et AT 2 N difEE =9 § gEde B

[Question ID = 3590][Question Description = Q29_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13823]
2. 2 [Option ID = 13824]
3. 3 [Option ID = 13825]
4. 4 [Option ID = 13826]

25) Two propositions are contradictories if :

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

21wl = 2 ot

(1) U, 38 1 fog wr & 91 T " 2

(2) ST, 2F Oed B BFA] £ S 2 FEeE TR 8 "

(3) oW IS w2y AR f9dg ug fim ¥, va o el ann o we 2

(4) 9P I 3239 SR fUm auH # 9 3 et 9T | 9 T 2wy o 9 et 2

[Question ID = 3591][Question Description = Q30_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13827]
2. 2 [Option ID = 13828]
3. 3 [Option ID = 13829]
4. 4 [Option ID = 13830]

26) What is the binary equivalent of the decimal number 67.625?
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101 (4) 1000011.101

ZUHEE WEAT 67.625 T TGAant THged 74 B 1

(1) 1000010 . 110 (2) 1000011.110
(3) 1000010 . 101 (4) 1000011.101

[Question ID = 3592][Question Description = Q31_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13831]
2.2

[Option ID = 13832]
3.3

[Option ID = 13833]
4. 4

[Option ID = 13834]

27) Identify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.

(A) RAM

(B) Optical Drive

(C) CPU Cache

(D) SSD

Choose the correct answer from the options given below :

(1) (B), (D), (A), (C) (2) (C), (D), (A), (B)

(3) (A), (B), (C), (D) (4) (C), (A), (D), (B)

UFEY 2IEY 1 SIH § TEd 5T Gl o9 § HeH diY, W0 o 30 % 50 1w e 4 ¥ w@d wmy i eeE
Ead
(A) i

R

(B) A== 3154



(Cy g, W=
(D) THE.UEEL.
A fou o fpeul | © E 3 #1999 iU

(1) (B). (D). (A), (C)
(2)  (C). (D). (A). (B)
(3) (A). (B). (©). (D)
(4) (C). (A), (D), (B)

[Question ID = 3593][Question Description = Q32_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837]
4. 4 [Option ID = 13838]

28) Given below are two statements :

Statement | : The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’.

Statement Il : The abbreviation ‘SWAYAM’ stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

7 (D) : .1, 5, w1 adem & - 86 A e wEE
Fo (1D : TH TS U AR U, W HAelW B - TS| 958 AT UiEIE-ofia B 9 UHSE
AREH

IUEE FUF F F |, 9 2 T T § 9 mE I @ 99 i

(1) = (1) 3% (D) 3 53 3
(2) = (D) 31 (1) 31 389 2

(3) = (I) §ea 2, =it = (1) s8en 2

(4) = (1) s@e 2, | w5 (1) we 2

[Question ID = 3594][Question Description = Q33_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13839]
2. 2 [Option ID = 13840]
3. 3 [Option ID = 13841]
4. 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B) On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

(1) (A), (B) and (C) (2) (A) and (C) only

(3) (B) and (C) only (4) (A) and (B) only

FfatEs 8 ® FH-FF 5 FUF T 91 H o =2, 9w gt w7
(A) TP FES 7% T5d
(B) #HA-w12 WIaH

(C) Topt 29 1 e fafwerda e



Fr= fou o fasedt @ w91 3w w1 9 FHifaw

(1) (A, (B) 3l (C)
(2)  =FEA (A) 37 (C)
(3)  =FAd (B) 3 (C)

(4)  FAE (A) 3 (B)

[Question ID = 3595][Question Description = Q34_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13843]
2. 2 [Option ID = 13844]
3. 3 [Option ID = 13845]
4. 4 [Option ID = 13846]

30) Match List | with List Il :

List I List Il

(Computer Terms) (Description)

(A) HTML (l) Semantic Web

(B) Web 2.0 (Il) Use of Internet to make phone calls

(C) Web 3.0 (lll) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)-(I, (B)-(1V), (C)-(1), (D)-(I1)  (2) (A)-(lI), (B)-(1), (C)-(IV), (D)-(II)
(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(lI1) ~ (4) (A)-(IV), (B)-(IN), (C)-(1), (D)-(11)

Ft-1 % =y g1 =1 faes Hit

1 FHII

T TE T
(A) TEd . () wifes as
(B) 2.0 (I) &R Fed 7 5 foTu $9a01e F1 3
(C) =93.0 (1) 3% 95 1 599 % forw e 6i 78 s
(D) =ff.=m s (IV) st a9

Fr= fou o fasedt @ w91 3w w1 9 FHifaw

(L) (A)-ID. (B)-AV). (C)-(I). (D)D)
(2)  (A)-IID. (B)-(D). (C)-(IV). (D)-(II)
(3)  (A)-ID. (B)-IV), (C)-(D). (D)-(I1I)
(4 (A)-IV). (B)-(IID). (C)~(D). (D)-(ID)

[Question ID = 3596][Question Description = Q35_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13847]
2. 2 [Option ID = 13848]
3. 3 [Option ID = 13849]
4. 4 [Option ID = 13850]

31) Given below are two statements :

Statement | : Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

i 31 #o faw w E

Fe (I) : T TEAN W WAEHE UEE S H FEu-T & Su-"g JEes - WO

TS &



o (I0) : HHEE TR, -5 # f99 ° g 2l

IWF T FATAE °, = @3 M0 FEeT § | Wl 39 w1 99 e

(1) =3 (1) 31 (1) 3+ aeF &

(2) =y (1) F (1) 3T 379 &

(3) =9 (1) ucg 2, wifes w94 (ID) s1ge7 2

(4) = (1) FEcA 2, W w99 (1) Je7 7

[Question ID = 3597][Question Description = Q36_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13851]
2. 2 [Option ID = 13852]
3. 3 [Option ID = 13853]
4. 4 [Option ID = 13854]

32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

fr=ferfas 9 @ %= @1 39 30 i @z i amar I fGva & sew 9% 'n-ag-Sa-gwE T Hi
Tfshan A Heiw B 7

o

(1) A (2) 4ra
(3) e (4) TE-37=

[Question ID = 3598][Question Description = Q37_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]
3. 3 [Option ID = 13857]
4. 4 [Option ID = 13858]

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (SDGs).
Reason (R) : Many of the SDGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

4= 2wy 2T U 2 ;. uF #iHFud (Assertion A) % ®9 H fetEd & df EHTFMW (Reason R) &

TTHF (A) Hymit T we (|25 ) i min 27 v T e )

F (R) : FE TH.SLH. waEEg B

SR FUA F AT 9, A B T fawen § 9 meE Suge I 6 59 Fiia

(1) (A 3 (R) gH1 @@t # 317 (R). (A) FF wdt =mean 2

(2)  (A) 3 (R) A WE E, ST (R), (A) FT HE = 965

(3) (A= B, < (R) @8 781 &

@) (ATATE R, A ®) TR

[Question ID = 3599][Question Description = Q38_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13859]
2.2



[Option ID = 13860]
3.3

[Option ID = 13861]
4. 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly
degraded environment.

Reason (R) : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

o

Hr %1 e oy e # : uw afiEes (Assertion A) % ¥ # foifma @ gm0 <mF FEW (Reason R) F

=Y
AR (A) : THTA 3R TFE F T F TEERE SR AEgay meeaas-aa S 6
x (& (s [ %
EE AT H 9EAlad =/ 1347 & |
F (R): AT F AAE H 7 T I Ee siEae 2

SYIE HAA S H, A6 150 T el 3§ WA S =hA i

(1) (A R (R) A T4 % 3R (R). (A) F 78 =men 2

(2)  (A) 3R (R) TH =9 E, S (R). (A) B wE = T# 2

(3) (AT 7, @A (R) 7 o950 2

@ (A) == TE 2, R (R) T E

[Question ID = 3600][Question Description = Q39_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13863]
2.2

[Option ID = 13864]
3.3

[Option ID = 13865]
4. 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) - 57% (2) -~ 42%
(3)~37% (4) ~ 28%

(1) ~ 5T7% (2) ~42%
(3) ~ 37% 4 ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13867]
2 [Option ID = 13868]
3 [Option ID = 13869]
4 [Option ID = 13870]

A W N -



36) Which of the following is most effectively promoted by Globalisation among the societies?
(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness

frefefas & F15 W1 959 297 9 § T948 BY § Iy 7g w@atda R o T 2

(1)  ©Fa AT g7 (2) F HEFOF qo
(3) & (4) wTEE-FHEA

[Question ID = 3602][Question Description = Q41_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13871]
2 [Option ID = 13872]
3 [Option ID = 13873]
4 [Option ID = 13874]

A w N -

37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System
(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors

ot = =t vm, = adeE B -

(1)  =aTeE ST g2 iy (2)  ==TEE §EE wiss ey
(3)  HeZel 9IS HTE HiSS ThiE (4) wHise 9IS HE Uegel TI-HH

[Question ID = 3603][Question Description = Q42_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13875]
2 [Option ID = 13876]
3 [Option ID = 13877]
4 [Option ID = 13878]

A wWw N -

38) COVID-19 acronym stands for
(1) Corona Virus Disease 2019
(2) Corona Virus Disease strain 19
(3) Corona Virus Disaster 2019

(4) Corona Virus Disease 2020

FifaTE-19 =1 gaee 2 -

(1) =T arstE Sie 317 2019

(2) AT AT e 21 19

(3) FHAET aT7H {5t 317 2019

(4)  =AET aEEE fediE @ 2020
[Question ID = 3604][Question Description = Q43_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13879]
2.2

[Option ID = 13880]
3.3

[Option ID = 13881]
4. 4

[Option ID = 13882]

39) NITI Aayog is
(1) National Institution for Transforming India (2) National Institute of Technology Integration
(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation

Fifa (NITL) =340 =1 Ao 2 -

(1) v s=ege Bz sfea



(2) e SEAEgE AT SEeTEl 2

(3)  79FH TEfHE ATF SR S

(4)  FvHd sEEgE ATF gEEETE & SETH

[Question ID = 3605][Question Description = Q44_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13883]
2. 2 [Option ID = 13884]
3. 3 [Option ID = 13885]
4. 4 [Option ID = 13886]

40) Match List | with List Il :

List I Listll

(Days Celebrated) (When)

(A) Earth Day (I) 24 January

(B) UNO Day (Il) 5th June

(C) Environment Day (lll) 24th October

(D) International Day of Education (IV) 22nd April

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(ll1), (C)-(I1), (D)-(IV) ~ (2) (A)-(IV), (B)-(lll), (C)-(1), (D)-(Il)
(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(lI1)  (4) (A)-(IV), (B)-(ll1), (C)-(IT), (D)-(1)

FHt-1 % =19 g=-11 =1 faem =it
THlI FH-11
feam faeft
(A) 9ei-Team I 24 Had
(B) |3 Ty wY fEaw In s
(C) waTER-Tgam (IIT) 24 HFW
(D) =g forem foam (IV) 22 =18

Frt fou 7o fomei § © wE 3 1 =99 it

1) (A-D. (B)-AID. (C)-(I). (D)-(IV)
@) (A)-IV). B)-(III), (C)-(I). D)-1D)
@) (A)-AD. B)-AV). (O)-I). (D)-IID
@) (A)-IV). B)-(IID). (C)-(1D). (D)-(I)

[Question ID = 3606][Question Description = Q45_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13887]
2. 2 [Option ID = 13888]
3. 3 [Option ID = 13889]
4. 4 [Option ID = 13890]

Topic:- New_60 Buddhist _B

1) Read the given passage and answer the questions that follow

The 20t century is witnessing a resurgence of Buddhism in many parts of Asia. In Japan, the resurgence of Buddhism began
long ago in 1868, when the disestablishment of Buddhism at the commencement of the Meiji Era and the mild form of
persecution which for some years overtook the religion and its adherents acted as a stimulus. A few years later Buddhism
again raised its head in Ceylon, where the activities of Meggetuwatte, Gunananda, H. Sumangala and Col. H. S. Olcott
precipitated a landslide in the direction of the national religion. Buddhist revival in India began as an organised movement
in 1891 when Anagarika Dharmapala founded the Mahabodhi Society. In China, the Buddhist awakening began with the
work of His Eminence T'ai-Hsu, while the resurgence of the Dharma in Burma is associated with the name of another great
saint Ledi Sayadaw.

ofid fu 31U STeEr9r @ ek R gosll & IR ¢ (gest 91 -95)
dlrdl A<t 3 efdrn @ aga A vl 3 dig &ef I Yoiscealol g311 & SITol A 531 Yolcdlol bl 9331 dgd uscl Aol 1868 3 §¢ s/ sl gor



3R d dig el DI fpoll? o2 aen dig eef @ SRIRRIT @I S¥RIISIe BT dcdl Ia>U Sl BB aul dd &t i 3Ad! siopusil sifefafrIl uz sraei
sferac orRA B2 forn, IEuc o1 oe e o8 aul ac 2fidlor 3 dig e @1 ore BR A grgyia g1 siel AssIgen, Iueic, Td T iR
olcl Td UA lerdbic scfe GRI o 318 ericenu &l dlg epf of sy enf gorror # dstayyt yfdmer & sira 3 dig epf o1 Yol ve
Ho1iSd 3ticictol @ U 3 1891 3 ad 3RF 31T, SI4 3[GCIPIIRG &FfUIe of HBIEI HARATSEr DI Ferdoln &I <ol 3 dig &l @ Yolseerol Bl 3T
HEARH ars -9 D BRI A §$ olafds guf F el B Yfer SIPReDAT BT AFdoel Tb G Aol el ISt IRMGIA D DBRUT FAT

Match List | with List Il

List | List Il

A. China |I. H. S. Olcott

B. Ceylon [ll. Ledi Sayadaw

C. India |lll. T'ai-Hsu

D. Burma [IV. Anagarika Dharmapalal
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 Rxeh -1

A, iiot |. ofct Ta. ©A. 3licrdic
B. ficitor 1. St sRIGEa

C. sira lll. ar$ -91.

D. qat V. sremeifya estura

off<l feu oru fedl 3 A A8 3R gfore :
[Question ID = 6510][Question Description = S2_qSNz_PG_BJG_Q91]

A-1I,B-1IvV,C-1,D-1/A-1Il,B-1V,C-1,D-Il[Option ID = 25503]
A-1,B-1IV,C-lll,D-I/A-11,B-1V,C-Ill,D-1[Option ID = 25504]
A-1I,B-1,C-1V,D-1I/A-1Il,B-1,C-1V, D - Il [Option ID = 25505]
A-IV,B-Il,C-1,D-1lI/A-1IV,B-1l,C-1,D-lll [Option ID = 25506]

A WN -

2) Read the given passage and answer the questions that follow

The 20t century is witnessing a resurgence of Buddhism in many parts of Asia. In Japan, the resurgence of Buddhism began
long ago in 1868, when the disestablishment of Buddhism at the commencement of the Meiji Era and the mild form of
persecution which for some years overtook the religion and its adherents acted as a stimulus. A few years later Buddhism
again raised its head in Ceylon, where the activities of Meggetuwatte, Gunananda, H. Sumangala and Col. H. S. Olcott
precipitated a landslide in the direction of the national religion. Buddhist revival in India began as an organised movement
in 1891 when Anagarika Dharmapala founded the Mahabodhi Society. In China, the Buddhist awakening began with the
work of His Eminence T'ai-Hsu, while the resurgence of the Dharma in Burma is associated with the name of another great
saint Ledi Sayadaw.

ofid fu 310 STeEr9r @ ek R Yosll & IR ¢ (gt 91 -95)

dlrdl 1<l 3 efdrn @ gga A vl 3 dig eef I Yool g311 & Slrel 3 $31 Yolcdlol dl 953IId dgd uscl Aol 1868 3 g3 s/ sl gor
RN d dig el DI fopoll? o2 aen dig &ef @ SRIRRIT @I SBRIISe! ®I el Fa>U Sl B aul dd &Ef i 3adI siepuell sifafaffrIl uz sraei
sferaca orA ®2 forn, IEuc o1 oe e o8 aul ac il 3 dig epf @1 oo BR A yrgyia g3 siel AssIged, Jueis, Td T iR
olcl Td UA 3ilerdbic sIfe GRI A 310 eridemu &l dig epf ot sy epf gotror 3 Astayyt yfder b siRa 3 dig epf o1 Yolscars ve
JHo1fda siicicrel @ U 3 1891 3l ad 3IRFsI 311, S GCIPING eEfure of JBMEIf?l ARISE &I rearuen B ol 3 dig el D Yorsearrs & 9rsama
HEARH ars -9 B BRI A §$ Srafd gaf 3 el B Yfer SIPRem AT BT AFaotl Tb g ABTol A ISt IRGIA B DRUT FAT

Identify the country where resurgence of Buddhism was first noticed in the 20t century.
3 oI &} usarel Hifste s1et dig et o1 gorsearmst 20 & a1t 3 usell ar gree gam-
[Question ID = 6511][Question Description = S2_qSNz_PG_BJG_Q92]

1. China/e1 [Option ID = 25507]
2. Burma/saf [Option ID = 25508]
3. Japan/smuret [Option ID = 25509]
4. Ceylon/zficlier [Option ID = 25510]

3) Read the given passage and answer the questions that follow

The 20t" century is witnessing a resurgence of Buddhism in many parts of Asia. In Japan, the resurgence of Buddhism began
long ago in 1868, when the disestablishment of Buddhism at the commencement of the Meiji Era and the mild form of
persecution which for some years overtook the religion and its adherents acted as a stimulus. A few years later Buddhism
again raised its head in Ceylon, where the activities of Meggetuwatte, Gunananda, H. Sumangala and Col. H. S. Olcott
precipitated a landslide in the direction of the national religion. Buddhist revival in India began as an organised movement



in 1891 when Anagarika Dharmapala founded the Mahabodhi Society. In China, the Buddhist awakening began with the
work of His Eminence T'ai-Hsu, while the resurgence of the Dharma in Burma is associated with the name of another great
saint Ledi Sayadaw.

oI fu a1u sTerior @ 3menR Uz gesll & Iaz ¢ (geat 91 -95)

dlerdl 1<t 3 ORI @ sgd A HEll 3 dig eef DI Yolseedlol 311 & STl 3 531 Yolseellol ol s3I g uscl ol 1868 3 g5 S Jrsil o1 B
3R d dig erdl @l fpoiR @2 qen dig eet @ IRIRRI @l IfRISIel Pl sl ¥au Sl @ aul dd & iR 3AD] sopuell sifefaf?ril uz sruei
ferac orREA @2 fern, Eud oI oe e 6o aul ac 2Hidlel d dig et @1 oe RR A yrgyia g3 el AssIger, Jueic, Td JHdrel 3z
@ofel Ta U 3iicrdic seaIfe SR 5 e wrRicwema 6 dig epf o1 21eg et gotrel 3 Isvayel yfdret B sra 3 dig epf o1 gerseerrs vw
JHo1fde siicierol @ WU 3 1891 3l aq 31RFsI 3311, S CIPING erfuret of saEIfel ARMSE &I renuen B et 3 dig el D Yorsearror &bl 9sana
HSIARH ars -9 & orf A §¢ Safd gaf 3 el D yfer SIPRemar @1 AFctl T SR Aol Ad ISt JAGA B DRUT F3AT

Identify the personality who has NOT played a role in the emergence of Buddhism as the national religion of Ceylon.

3 aftp $l ustrel difsie Sr1el dig et oI Hidlor ®1 s, &6 Jotrol 3 DI Yf3roT ordl forers-
[Question ID = 6512][Question Description = S2_qSNz_PG_BJG_Q93]

1. Meggetuwatte/d@slar [Option ID = 25511]

2. Gunananda/3pmeig [Option ID = 25512]

3. H. Sumangala/wa. geisren [Option ID = 25513]

4. Anagarika Dharmapala/smermeif¥s epfurer [Option ID = 25514]

4) Read the given passage and answer the questions that follow

The 20t century is witnessing a resurgence of Buddhism in many parts of Asia. In Japan, the resurgence of Buddhism began
long ago in 1868, when the disestablishment of Buddhism at the commencement of the Meiji Era and the mild form of
persecution which for some years overtook the religion and its adherents acted as a stimulus. A few years later Buddhism
again raised its head in Ceylon, where the activities of Meggetuwatte, Gunananda, H. Sumangala and Col. H. S. Olcott
precipitated a landslide in the direction of the national religion. Buddhist revival in India began as an organised movement
in 1891 when Anagarika Dharmapala founded the Mahabodhi Society. In China, the Buddhist awakening began with the
work of His Eminence T'ai-Hsu, while the resurgence of the Dharma in Burma is associated with the name of another great
saint Ledi Sayadaw.

ofid fu 31U STeEr9r @ ek R gosll & IR ¢ (Pt 91 -95)

dlrdl 1<t 3 efdrn @ ggd A vEll 3 dig eef I Yoicealol g311 & SIlel 3 $37 Yolcdlol Pl QB3I dgd uscl Aol 1868 3 g3 s/ sl gor
3R d dig eraf Dl oo @2 ae dig &ef @ SRIRRI I RIS P sl ¥a3U Sl @ aul ad &E iR 3AD] sopuell sifefaf?rIl uz sruei
MUe DREI B2 ferr, U oI oil f[ioar o aul a1 2Hlidler 3 dig epf @ se BR 21 yigiia g3 Siel dealqar, Iuileic, Ud IJIoIel AR
olcl Td UA 3dlerdbic sIfe GRI 5 318 eridemu &l dig epf ot sy epf gotrol 3 Astayyt yfder E siRa 3 dig epf o1 Yolscare ve
JHa1fda siicicrol @ wU 3 1891 3l ad 31RIsI 3311, S GCIPING eEfure of JBMEIf?l HRISE &I reanuen B ol 3 dig el D Yorsearrsr & s
HEARH ars -9 B BRI A §$ stafds guf 3 el B Yfer SIPRemAT BT AFaotl T g Aol A ISt IRMGIA B DRUT FAT

Given below are two statements
Statement I: The resurgence of Buddism was noticed in Japan during the Meiji Era.
Statement II: The persecution of Buddhist during the Meiji Era acted as a stimulus for the resurgence of Buddhism in Japan.

In light of the above statements, choose the correct answer from the options given below

ofi &1 perer Rusme 3 :

@ - | : siare 3 dig et o1 Yorscare dsil o 3 great g3l

@l - || @ digl u? Sl srcararR il et 3§31 98 Siurel 3 dig &3t @ gorscdrel 3 YRa @l
IwRf Dercll d icle 3 BrefiRaa fmeul 3 A 78 3a= ol -

[Question ID = 6513][Question Description = S2_qSNz_PG_BJG_Q94]

1. Both Statement | and Statement Il are true/wemwt | siie 11 Sleil 31ét & [Option ID = 25515]

2. Both Statement | and Statement Il are false/aerwt | 3z || el s & [Option ID = 25516]

3. Statement | is true but Statement Il is false/@emwr | 31 8, fdpoq werat |l sieta & [Option ID = 25517]
4. Statement | is false but Statement Il is true/memer | srRIcI 8, fbog et |l 3ét & [Option ID = 25518]

5) Read the given passage and answer the questions that follow



The 20t" century is witnessing a resurgence of Buddhism in many parts of Asia. In Japan, the resurgence of Buddhism began
long ago in 1868, when the disestablishment of Buddhism at the commencement of the Meiji Era and the mild form of
persecution which for some years overtook the religion and its adherents acted as a stimulus. A few years later Buddhism
again raised its head in Ceylon, where the activities of Meggetuwatte, Gunananda, H. Sumangala and Col. H. S. Olcott
precipitated a landslide in the direction of the national religion. Buddhist revival in India began as an organised movement
in 1891 when Anagarika Dharmapala founded the Mahabodhi Society. In China, the Buddhist awakening began with the
work of His Eminence T'ai-Hsu, while the resurgence of the Dharma in Burma is associated with the name of another great
saint Ledi Sayadaw.

il f3u 31U SrEri9r & MeR U Yeoll B IR & (geot 91 -95)

dlerdl 1<l 3 ofdrn @ aga A well 3 dig epl I Yorsearel g3 3 SIrel 3 $1 Yoledlol Pl B3I dgd uscl Aol 1868 3 g3 s/ ISl go1 D
3R i dig el DI fpol? o2 aen dig epf @ SRIRRIT @I SB¥RISIe BT dc@l ¥a>U Sil BB aul ad enf i 3adl sopuehl sifefafrRIl u? srae
ferue BRI &2 forn, 3Eue o oel e o adl ag Hidlel 3 dig enf o otv BR 3 yrgwla g3 S8t AssIgad, 3uleic, Td oI 302
wolel T BA 3Icidbic s GRI o 318 PRiday &l dig &Rt oI e, &6 Fotrol A Ascayyl yfdmr Bt siRa 3 dig epf oI Yolscarel vp
JHo1iSd 3ticierol @ U 3 1891 31 a9 3RF 3311, SI9 S[GCIPIIRG eEiUTC of HBMEIRI ARISE DI Ferdell &I <diel 3 dig &Rl D Yelseerol bl Y3
IEHARH ars -9] D DRI A 5 Safds qaf i el B Yl SIPRedar ®T AFdacel T g HsIol Ad ISl IRMGIA o BRUT F3T

The Buddhist awakening in China began with the work of

ol & di; ept @1 gorsaret fosifeiRaa 3 3 fpads oril A 3R g3?

[Question ID = 6514][Question Description = S2_qSNz_PG_BJG_Q95]
1. Col. H. S. Olcott/aeler war w1 sfferaic [Option ID = 25519]

2. Anagarika Dharmapala/sisif¥a® eefurer [Option ID = 25520]

3. Ledi Sayadaw/<ict 2rmera [Option ID = 25521]

4. Tai-Hsu/as -9 [Option ID = 25522]

Topic:- New_60 Buddhist _C

1) Read the given passage carefully and answer the questions that follow

Man, the individual, is the centre of Gandhi's system of thought. The objective is the moral and spiritual development of
man. Man is primarily his consciousness, his capacity to be self-conscious and his built-in potentiality to judge between good
and evil, between what will help him in his evolution to higher levels of being and what will obstruct his path. This gives
him leverage, not only to aspire after higher levels but to endeavour to attain the same. Gandhi believed in this self-effort
and the path he outlined lay through ethical, moral and spiritual discipline. The keynote of his ethics is love, which means
near-identity of interest with every sentient being: this love has to be expressed in the form of service and sacrifice. His
ethics in relation to material things and property consisted in his concept of trusteeship. Every human being is a trustee not
only of his faculties and attainments but of everything he comes by. And trusteeship consists not only in using his powers
and goods properly but in using them selflessly and for the well-being of all others.

forgoiferRae sterior ol &Areigde ufeu sk gosll @ 3= SR (9ot 96 - 100)

Jlold, U cafte U 3, sifeh bl R crazen o ©¢ 3 A IZ9A Al D olfecrad 3 mefesrd R ot Jatlht 3 rora ygaa: Adoa
goft 3, RrRId> UrRI ¥a-Adiol dolol @ S 3R 3 3R ¥ I 3R Dot DI IADI sodferda oIfkp, IAD Ao/ Blot D IcaR IRI ad fAPRT
B0l B ABRIPB Iedl DI dlel Td TR IAD AL 3 d1eras i, $pT Slol sl 8

Y5 of Dael IA IR cigll I It D e Qietrsat Sar 3 afe R aiga gifft 3g YRIRT ool @I YR it aear 3

a1iefl sruol Fa-YRIRT 3 sRIFI 3d A 3R Sil AR Ieslol YMifcpd b= o1 a6 ofiferrd, oifere wd senfesrd sro19MRTel U smenfya ar Iorchl ofifer
&l Fgzo=1 faorudr 3 g3, RrRIPT 3M9RI YA® el Yol @ 3dl 3 Ar=aar Fenfia wzer; iR Ya @l Adr e 3! @ 34U 3 b fopar Sifel
Bl 3 siiferd azqaii 3R Aufa @ e 3 Iorhl olifer AT &t FAmcuen I foifda 3 yrI® o o saril alar 3, Sil of dad 3ol Ul
3R yIftrIl 1 afcd 3ot 8il el DT 91t oARM Biar & Sil 3al S1fofd fipenm 31 Stafs ‘AT’ 3 o1 dact 3l orftpal 3R AP BT 3T
Su=ner foifdd 3, afea Sorpr for:zaref u=ier st cafepal & Bdl @ fere oo sht onfdrer 3

A leverage is given to man to attain such heights

gicArsd fopl caftp ol so1 SHarsl ol Yra oo & fere &= sirer 3-
[Question ID = 6515][Question Description = S2_qSNz_PG_BJG_Q96]

1. Ethical development/smrarsia fawrr [Option ID = 25523]

2. Moral development/sifer fadrr [Option ID = 25524]

3. Spiritual development/smeanfeaas fdarr [Option ID = 25525]

4. Moral and Spiritual development/@ifer 3iiz smeenfesias faarr [Option ID = 25526]



2) Read the given passage carefully and answer the questions that follow

Man, the individual, is the centre of Gandhi's system of thought. The objective is the moral and spiritual development of
man. Man is primarily his consciousness, his capacity to be self-conscious and his built-in potentiality to judge between good
and evil, between what will help him in his evolution to higher levels of being and what will obstruct his path. This gives
him leverage, not only to aspire after higher levels but to endeavour to attain the same. Gandhi believed in this self-effort
and the path he outlined lay through ethical, moral and spiritual discipline. The keynote of his ethics is love, which means
near-identity of interest with every sentient being: this love has to be expressed in the form of service and sacrifice. His
ethics in relation to material things and property consisted in his concept of trusteeship. Every human being is a trustee not
only of his faculties and attainments but of everything he comes by. And trusteeship consists not only in using his powers
and goods properly but in using them selflessly and for the well-being of all others.

forgoiferRae sTeri9r ol &AeIgde ufeu SiiR gosll @ 3= IR (gest 96 - 100)

JloTd, UP =ifte U 3, sliell bl far aazen @1 ©¢ 3 DI 359 Alold D olferd 3R meAfedrd PRI oI Jatiet 3 Al YIaa: ddea
goft 3, RrRId> U1 Fa-Aciol dolol @ S 312 3 3R G 3 3R Dot DI IADI sodferEa oIftp, IAD Ao/ Blol D IcaR FTRI ad PRI
D0l D ABRIP dvdl DI dlel Ud qRII 3D AP 3 dIEIP Bld), $ADI FAlol AlSS 3

5 of del IA IcadR cigdl B YIfft D fere Qieetrsar Sar 3 afe RA aga gifft 3 YRIRT B! @I YR sit aaar 3

aiieft sruol Fa-yRIRT 3 R 3 A 3 Sit APt Soalel Yifend s o a ofiferrd, oiftras vd smeanfesras siglomRTer UR smenfyd e 3orchl oiifer
&1 Fgo1 faoradr 3 gg1, RrRIeT 3M9RI YAd et yuofl @ Rdl 3 Ame=aar renfia ozet; iR Y @ a1 de 3! @ wu 3 b fopan Siten
3Icr 3 siiferes a3l 3iiz Aufer @ st 3 okl ofifer cfdra & sAweuar 3 foida 3 yAe ol v saRfl dlar 8, Sl of dddl 1ol Uil
3z gIftril 1 afcd 3ot 9t el T 91 IR Brar 3 Sil 3 Sifofa fipen 31 Stafs ' A’ 3 & daet 3adl orftpal 3R AFIRBEAL &1 3fra
SuRiel foifda 3, afca Sotast for:aref Suriler wsft cafesal @ 3al @ fere @wzon oft onfdrar 3

Centre of Gandhi's system of thought was

sifelt & faR-wraven o1 dsg -

[Question ID = 6516][Question Description = S2_qSNz_PG_BJG_Q97]
1. Man only/a@act gau [Option ID = 25527]

2. Woman only/dact afdenr [Option ID = 25528]

3. Individual/=ifte [Option ID = 25529]

4. Children/s<a [Option ID = 25530]

3) Read the given passage carefully and answer the questions that follow

Man, the individual, is the centre of Gandhi's system of thought. The objective is the moral and spiritual development of
man. Man is primarily his consciousness, his capacity to be self-conscious and his built-in potentiality to judge between good
and evil, between what will help him in his evolution to higher levels of being and what will obstruct his path. This gives
him leverage, not only to aspire after higher levels but to endeavour to attain the same. Gandhi believed in this self-effort
and the path he outlined lay through ethical, moral and spiritual discipline. The keynote of his ethics is love, which means
near-identity of interest with every sentient being: this love has to be expressed in the form of service and sacrifice. His
ethics in relation to material things and property consisted in his concept of trusteeship. Every human being is a trustee not
only of his faculties and attainments but of everything he comes by. And trusteeship consists not only in using his powers
and goods properly but in using them selflessly and for the well-being of all others.

forrarferRaa srerior ol earogde ufeu siiz gesil @ = SR (gest 96 - 100)

Jlold, U afte U 3, sifeh &l R cIazen o1 ©¢ 3 $ADI IZ9A Aol D olfeld 3iI2 enfead PR oI Jatlet 3 Alora ygzaa: Adea
goft 3, SrRI® UrRT Fa-Adel Tolol B SRHIAT 312 3D 3R G A 3R B Bl JADI el 9Iftb, IAD AlGId dlol D ITadR IR dd PRI
D0l D ABRID edl DI dlel T TRAT IAD AL 3 dIE Bid, FADT FAlol AlIS 3

s of el A IR clgl bl YIfft D fore Yiedrsd St & afcd A A QIffl 3q YART Dol @I Y off dear 3

a1iell 3raol Fa-gART 3 $RIRAI 3@ A 3iiR Sil APl Issiol YHifcpd v et g6 ofifeerd, oifere ud snenfeaAd 3roIoNRIol UR 3Memiyd a1 Ioidbl oilfer
DI I fa9uar & Ygi, SRI®T 319RI YRId A<idoel Yuil @ Bdl 3 Are=rar Tenftra w2etr; 3R Y DI Adl a1 I D WU I =Iep [ Sitel
Blar & siiferes avqail 3liz FHufer & AFacer 3 o1l oiifer gréforg &t Fweuen A forfda 3 yA® rora ves sarRfl 3xar 3, Sl of dae 3ruol Uil
3l gIf$ril o1 afcd ot Asft aedl o1 9ft o Jrar & Sit Iar sifsfa e 31 srafds "¢ AT’ 3 o1 dact I orfepl sz AHBRI &1 3fra
Sulior foifdd 3, afea ot for:xarel Su=iler A3l cafepdl @ RBdl @ e o 31t onfdrer 3

The concept of trusteeship consisted of

o Rigia 3 swafoffda 3-
[Question ID = 6517][Question Description = S2_qSNz_PG_BJG_Q98]



. Ethical Relations/smarsia @aser [Option ID = 25531]

. Moral Relations/sliferas 3@dser [Option ID = 25532]

. Spiritual Relations/smenfead Jeaoer [Option ID = 25533]
. Political Relations/zmroftfere 2#eser [Option ID = 25534]

A WN -

4) Read the given passage carefully and answer the questions that follow

Man, the individual, is the centre of Gandhi's system of thought. The objective is the moral and spiritual development of
man. Man is primarily his consciousness, his capacity to be self-conscious and his built-in potentiality to judge between good
and evil, between what will help him in his evolution to higher levels of being and what will obstruct his path. This gives
him leverage, not only to aspire after higher levels but to endeavour to attain the same. Gandhi believed in this self-effort
and the path he outlined lay through ethical, moral and spiritual discipline. The keynote of his ethics is love, which means
near-identity of interest with every sentient being: this love has to be expressed in the form of service and sacrifice. His
ethics in relation to material things and property consisted in his concept of trusteeship. Every human being is a trustee not
only of his faculties and attainments but of everything he comes by. And trusteeship consists not only in using his powers
and goods properly but in using them selflessly and for the well-being of all others.

forgoiferRae steri9r ol &AaeIgde ufeu iR gosll & = SR (gt 96 - 100)

JloTd, UPh =ifte #U 3, sliell bl fFar caazen @I ©g 3 DI 359 Alold D olfcrd 3R meAfedrd PRI oI Jatiet 3 Al YIaa: ddea
goft 3, RrRId> U1 Fa-Aciol dolol @ S 312 3 3R G 3 3R Dot DI IADI sodferda oIkp, IAD Ao/ Blot D IR IRL ad DRI
D0l D HBRIP dvdl DI dlel Ud qRII 3D ABI 3 AIEID Fld), FADI ATl AlSS &

s of dael IA IcadR cigl I It D fere Qiersar Sar 3 afcd RA aga gifft 3 YRIRT B! @I YR sit daar 3

a1iefl 3rgol Fa-YARI 3 9RIRA @d A 3iiR Sit Al Ioalol YWifdpd s e as ofifeera, oifere ud snenfesd siglonRior UR menfyd o Iordl oiifer
&6l Fgo1 faoraar 3 gg1, RrRIeT 3M9RI yd et yuoft @ Rl 3 e=rar renfira wzen; iR Y @l a1 den 3t o »u 3 b fopan Siten
3 & siifers avqgil sfiz Jufer @ eacer i orhl ofifer céifdra &t Fweuen 3 foifda 3 e e v carRfl 3iar 3, Sil of dadt el Ul
3z gIftril 1 afcd 3ot 3t el T 91t oIl Brar 3 Sil 3 Sifofa fopen 31 srafs ' AT’ 3 & daer 3adl orftpal iR AR &1 3fra
SuRier foifda 3, afca Sotast for:aref su=ier it cafesal @ 3dl @ fore o oft onfdrar 3

The trustee can be

caRdl 3 ADmar -

[Question ID = 6518][Question Description = S2_qSNz_PG_BJG_Q99]
Some with the limit of 10 individuals/10 cafepeii bt sra=fiam arct [Option ID = 25535]
A few with more knowledge/siféi sirel arel @ ciier [Option ID = 25536]

Every human being/ycw safes [Option ID = 25537]

A few with specialization/fadtuar arel @ <ot [Option ID = 25538]

A w N =

5) Read the given passage carefully and answer the questions that follow

Man, the individual, is the centre of Gandhi's system of thought. The objective is the moral and spiritual development of
man. Man is primarily his consciousness, his capacity to be self-conscious and his built-in potentiality to judge between good
and evil, between what will help him in his evolution to higher levels of being and what will obstruct his path. This gives
him leverage, not only to aspire after higher levels but to endeavour to attain the same. Gandhi believed in this self-effort
and the path he outlined lay through ethical, moral and spiritual discipline. The keynote of his ethics is love, which means
near-identity of interest with every sentient being: this love has to be expressed in the form of service and sacrifice. His
ethics in relation to material things and property consisted in his concept of trusteeship. Every human being is a trustee not
only of his faculties and attainments but of everything he comes by. And trusteeship consists not only in using his powers
and goods properly but in using them selflessly and for the well-being of all others.

forrarferRaa srerior ol earogde ufée siik geoll & 3= IR (gest 96 - 100)

Jlold, U afte U 3, sifeh bl R caazen oI ©¢ 3 $ADI IZ9A Aol D olfecld 3iI2 efesd PR oI Jatlet 3 rora ygzaa: Adoa
goft 3, PrRI® UrRT Fa-Adel Tolol B SREIAT 302 3D 3R G 3 3R Dt Bl JADI 3eafoiidda 9Iftb, IAD HAloId ol D IJTaaR IR dd PRI
D0l D ABRIDB Iedl DI dlel Td TRAI IAD AL 3 dED Bid, $ADI FAlol AlSIS 3

B of Ddcl 3A I cigAl bl it @ fere Yieaset Ser 3 dfcd A c1ga Qi 3g YART dl @l e st wzar 3

alieflt sruol Fa-yRIRT 3 sRIAI 3d A 3R Sil AR Ieslol Yxifcpd v o as sfiferrd, oifere wd smeanfesd sro1omRTel U smenfyd a1 Iorchl ofifer
DI I fa9uar & Ygi, SRI®I 319RI YRId A<idoel Yol @ Bdl 3 Are=rar Tenftra wzer; 3R Y I Adl del I D WU I3 =Ieb [ Sitelt
Blar & siiferes avqail 3iiz FHufer & AFacer 3 Iordl oiifer gréforg &t Fweuen A forfda 3 Y@ Fro1a ves sarRil dxar 3, Sil of dae 3ruol Uil
3l gif$ril o1 afcd 3ot Asht aedl o1 91t oAt Jrar & Sit Ier siffa fopen a1 srafds "¢ AT’ 3 o1 daet Iadl orfepl sz AP o1 3T
Su=ilol foifdd 3, afe ot for:warel Su=ler W3l cafepdl @ RBdl @ e o 31t onfirer 3

The functions of trusteeship should be



gFAfoa @ yort dlot anfdu-
[Question ID = 6519][Question Description = S2_qSNz_PG_BJG_Q100]

A wWw N =

To use the powers for their own well being/ st stets @ fere orfepeil @1 ellsr w2elr [Option ID = 25539]

To use goods for their own use/amel 3wrileT & forw AP @I 3wllel don [Option ID = 25540]

To use the powers selflessly for others/aree il & fere oifepeil @1 for:zaref yilsr @ [Option ID = 25541]

To use the powers and goods for others' well-being/sieer ciell @ fere gifepeil der BRI @1 3wier won [Option ID = 25542]

Topic:- New_60 Buddhist _A

1) The main stupa in Bharhut is located at:

MIFA D I IQU AB1 afderd 3-
[Question ID = 6520][Question Description = S2_qSNz_PG_BJG_QO01]

1
2
3.
4

. Hill of Gupteshvara/spraz &t uarst [Option ID = 25543]
. Lal Pahar/emet usrs [Option ID = 25544]

Circumambulation path/ygigmm uer [Option ID = 25545]
. High eminence of the foot of the Hill/uarst &t actedt & 3ot act w [Option ID = 25546]

2) In the Buddhist Mahavihara of India and Tibet, the two deers at the gate symbolize:

R 3R foreaa @ dig faBRI 3 3ad yar gRI uz <1 12vil @1 sider ufsarie 2-

A W N -

[Question ID = 6521][Question Description = S2_qSNz_PG_BJG_Q02]
Presence of holy spirit/ufde smeamsii 6t suf¥erfer [Option ID = 25547]

Second sermon by the Buddha/gqg @1 fgetr sucer [Option ID = 25548]
First sermon or Dhammachakrapravartana/gerer 3uger srerar ewfaay yadar [Option ID = 25549]

. Enlightenment at Bodhgaya/dleern 3 dieryifiy [Option ID = 25550]

3) Among the following, the term 'Manushi Buddha' applies to:

forgotferfaa 3 "arerdl g ue aeL B 3-

[Question ID = 6522][Question Description = S2_qSNz_PG_BJG_Q03]
Kanakmuni in Bhumisparsh Mudra/sifarusf 31gr 3t wereajfor [Option ID = 25551]
Vipasyin in Dhyani Mudra/emoft #gr 3 faugeft [Option ID = 25552]

. Sakyamuni in Gyan Mudra/siret 9jg1 3 9maeiifor [Option ID = 25553]
Krakuchhanda in Vara Mudra/az 3g1 3 @g@es [Option ID = 25554]

A w N =

4) Among the most basic and persuasive discourses attributed to the Buddha are:

g D Actd iR Ideardl 3ugor @1 I SIrer 3-

[Question ID = 6523][Question Description = S2_qSNz_PG_BJG_Q04]
Karma and compassion/adi 3iiz @sun [Option ID = 25555]
Ignorance and rebirth/aiféen sz gersiesr [Option ID = 25556]

Karma and rebirth /i siiz yorstear [Option ID = 25557]
Mindfulness and right intention/zafer sfiz 3=Iey 3icweu [Option ID = 25558]

A W N -

5) The seal of one of the ancient Mahaviharas mentions Sri-Dharmapaladeva-Mahavihariya Arya-Bhiksusariigha. Identify

the Mahavihara.

yrilor ssifasrl i A vw #a2 R "ofi epfurcda-asiasrRi-IIrI-fHigRia” sifioa 3 1 Aslfder &I usare ®3-
[Question ID = 6524][Question Description = S2_qSNz_PG_BJG_QO05]

1. Nalanda/seier [Option ID = 25559]

2. Vikramasila/famaforen [Option ID = 25560]
3. Odantapura/siigeaygzr [Option ID = 25561]
4. Somapura/zierg [Option ID = 25562]

6) ldentify the place where gold coin of King Huviska was found amongst the relics as mentioned by Cunnigham.

BfoolEE GRI 3.gd 33 Tl bl usdrel B3 Bl D Hecadl 3 A sfd D Aol &I RiadT RN SR oI-
[Question ID = 6525][Question Description = S2_qSNz_PG_BJG_QO06]



Bodha Gaya/desrn [Option ID = 25563]
Lumbini/gfdesft [Option ID = 25564]
Sarnath/aerer [Option ID = 25565]
Sanci/3ifcft [Option ID = 25566]

A WN -

7) ldentify the place where Fa-hien found the stupas of Sudatta and Angulimala.
33 Ferel &l usdrel @3 S8l WIfdAlel of dad 3R sidferarer d Fqul @I S a1-
[Question ID = 6526][Question Description = S2_qSNz_PG_BJG_QO07]

1. Savatthi/amaceft [Option ID = 25567]
2. Rajagaha/smers [Option ID = 25568]
3. Isipattana/sRmuret [Option ID = 25569]
4. Kusinara/geftemer [Option ID = 25570]

8) Identify the school which held the view that there is more happiness than unhappiness in life.
33 AYer bl usdrel B3I PBRI®T Alstoll 3 fob Silast 3 g:3a bl detell # sileic siferd 3-
[Question ID = 6527][Question Description = S2_qSNz_PG_BJG_QO08]

1. Akriyavada/sifegaimare [Option ID = 25571]
2. Jainism/Sler enf [Option ID = 25572]

3. Buddhism/glg ewf [Option ID = 25573]

4. Lokayata/chwmrIa [Option ID = 25574]

9) In the opening verses of Hevajra Tantra, Buddha is residing in-
as]-ddq D MR ucl 3 gg @I forart 3-

[Question ID = 6528][Question Description = S2_qSNz_PG_BJG_QO09]
. Vagina of Vajrayogini/qerif3ieft <61 =ifer 3 [Option ID = 25575]

. Sarnath/ametrer 3 [Option ID = 25576]

. Inside the womb of Maya/#mrn &t @fér 3t [Option ID = 25577]

. Indian Monastry/smdtr dig faer 3 [Option ID = 25578]

A w N =

10) The Sect of Tibetan Buddhism distinguishes Six Bardos as-
fereacht di; et @1 AYGRI St 8: R (3idRIM) 3 3idz g dm2r 3-
[Question ID = 6529][Question Description = S2_qSNz_PG_BJG_Q10]

1. Nying Ma/sfts-amr [Option ID = 25579]
2. Kargyud/@rsyg [Option ID = 25580]
3. Sakya/zma=m [Option ID = 25581]
4. Gelug/ar-gor [Option ID = 25582]

11) Identify the Tibetan scholar who served as the dvara-pala of Vikramasita Mahavihara.

39 fereacdl fagrer & usdrer HIRA Ricslal famauafdcn seifder 3 grurda & wu i Aar &I f

[Question ID = 6530][Question Description = S2_qSNz_PG_BJG_Q11]
1. Naropa/sRmr [Option ID = 25583]

2. Tilopa/fereiar [Option ID = 25584]

3. Sarahpada/zresurc [Option ID = 25585]

4. Milarepa/fen-3ur [Option ID = 25586]

12) ldentify the place where Ajivaka School was founded

3Tl AYGRI Bl FeATU6IT B Felmel bl usdlel db3-

[Question ID = 6531][Question Description = S2_qSNz_PG_BJG_Q12]
Magadha/#err [Option ID = 25587]

Kosala/wmeret [Option ID = 25588]

Vajji/afsst [Option ID = 25589]

Anga/aspst [Option ID = 25590]

AN w N -

13) Identify from the following the kind of Namokara-Mahamantra

forgaiferRaa 3 31 vEIIPR AsRig & YPR ®I Usdiior-
[Question ID = 6532][Question Description = S2_qSNz_PG_BJG_Q13]

. Devata/gaar [Option ID = 25591]

. Arihanta/aii¥%&a [Option ID = 25592]

. Bodhisatta/aférra [Option ID = 25593]
. Yaksha/=er [Option ID = 25594]

A WN -



14) In the Jain Tradition, which one of the following is compulsory for the path of salvation?

Siof URURT 3 AgaAet @ fore A smaead 3-

[Question ID = 6533][Question Description = S2_qSNz_PG_BJG_Q14]
. Triratna/fReat [Option ID = 25595]

. Sapta-Vyasana/zmerie [Option ID = 25596]

. Asta Malaguna/smcagetspur [Option ID = 25597]

. Anuvrata/smupga [Option ID = 25598]

A W N -

15) Chairman of First Vacana was-
Yerdl drdloll & 31eA8T -

[Question ID = 6534][Question Description = S2_qSNz_PG_BJG_Q15]
Sthula-Bhadra/zeetorg [Option ID = 25599]

. Skandil/¥@fsger [Option ID = 25600]

. Ksamasramana/ giaggor [Option ID = 25601]

. BhadraBahu/sgarg [Option ID = 25602]

A wWN =

16) One of the following is related with Samyakacarita
soldl A uop Rigia Asraanisqg A A€l &
[Question ID = 6535][Question Description = S2_qSNz_PG_BJG_Q16]

1. Pafcavrata/daga [Option ID = 25603]
2. Matighana/afersier [Option ID = 25604]
3. Srutjhana/gpsiet [Option ID = 25605]
4. Avadhijhana/smafersier [Option ID = 25606]

17) Vallabhi is famous for-
acenil s fore yiing 3-
[Question ID = 6536][Question Description = S2_qSNz_PG_BJG_Q17]

1. First Vacana/gemt araen [Option ID = 25607]
2. Second Vacana/fgrkr araen [Option ID = 25608]
3. Third Vacana/ et araer [Option ID = 25609]
4. Fourth Vacana/agef araer [Option ID = 25610]

18) These Bhavanas are related to Ahimsa for mental purification in Jainism-
Siof &3t 3 31fd=Ar A FeEitEa A Hgele AIRIe iy & foe RIS -

[Question ID = 6537][Question Description = S2_qSNz_PG_BJG_Q18]

1. Alsadhi, $astra, Abhaya and Ahara/siufer, e, s a2 smar [Option ID = 25611]
2. Dravyarthika and Paryayarthika/genfefe siiz wifenfefas [Option ID = 25612]

3. Maitr1, Karuna and Asteya/didt, @ siiz scrr [Option ID = 25613]

4. Maitr1, Pramoda, Karuna and Madhyastha Bhava/dd, ysilc, @sun aiiz seizesina [Option ID = 25614]

19) The main subject matter of "Sagara-Dharmamrtam"” text is:

" ARTR- A" 3ol Y WU A A AR BT )0 3-

[Question ID = 6538][Question Description = S2_qSNz_PG_BJG_Q19]
. Householder's Code of Conduct/seerar [Option ID = 25615]

. Monk’s Code of Conduct/g@mmar [Option ID = 25616]

. Poetics/@re 9] [Option ID = 25617]

. Astrological description/:iifer ferdaor [Option ID = 25618]

A wWwN -

20) "Prakrit Bharati Academy”, a Jain Institute in Rajasthan is located at:

Siol F¥eIrel "Yrayd Ul srIcall” Isrenrel 3 el sraf¥era -
[Question ID = 6539][Question Description = S2_qSNz_PG_BJG_Q20]

Jaipur/srgz [Option ID = 25619]

. Udaipur/3c=gz [Option ID = 25620]
. Kota/wmter [Option ID = 25621]

. Ladnun/emsqf [Option ID = 25622]

A w N =

21) Identify the Jain Muni who promoted Jainism abroad



Stot ot bl usaret bIfSIg ol fagell 3 sirm2 Siet &3t w1 gar fav-
[Question ID = 6540][Question Description = S2_qSNz_PG_BJG_Q21]
. Acharya Jnana Sagar /st sier 2w [Option ID = 25623]

. Acharya Nathamal Muni/sirarf sremrer gifer [Option ID = 25624]

. Acharya Rayana Sagar/simarf semr 2R [Option ID = 25625]
. Acharya Shushil Muni/smarf gefter gfer [Option ID = 25626]

A W N -

22) Identify who can become Parmatma.
SiI URAHI Fol ADd & oIl Usdlel DIfore
[Question ID = 6541][Question Description = S2_qSNz_PG_BJG_Q22]

Every human being has a power to achieve it./yI® Sfia 3 & afep & [Option ID = 25627]

Materialistic soul becomes "uzsncanr /i 9iiferes I drsol drell <Ifep 3, dl uenedn alar & [Option ID = 25628]
Only those who are born in upper caste. /st 3ca @et 3t Ggralar 8 [Option ID = 25629]

Only Kings can achieve it. /71 21T 331 gra @2 A & [Option ID = 25630]

A WN -

23) Identify the king who had won various islands crossing the oceans.
3 = Dl gsdrel Difsie BRTel G UR 3l Sl R ekl g &i-
[Question ID = 6542][Question Description = S2_qSNz_PG_BJG_Q23]

. Kharvel/==aet [Option ID = 25631]

. Prasenjit/yeifora [Option ID = 25632]

. Ajatasatru/smimorg [Option ID = 25633]
. Kumarpal/@gmuret [Option ID = 25634]

A W N -

24) Identify from the following the kind of Manahparayaya Jfiana.

FHol:URRISIIel @ 91 bl usarst bHifSre-
[Question ID = 6543][Question Description = S2_qSNz_PG_BJG_Q24]

Riju-Vipulamati/ssg-fagemifer [Option ID = 25635]

Kshyopasam Nimittah Sada Vikalapah/griugmr foifért: wsfaweu: [Option ID = 25636]
Dvaneka-dvadasa Bhedam/gaa-gret aig [Option ID = 25637]

. Avagrahavaya-dharana/smsjgarr-emun [Option ID = 25638]

A W N -

25) On the pattern of Phoenix Settlement, Gandhiji started another cooperative venture known as Tolstoy Farm, near:
pifora=t Accrdic Bl gurrell U= sHiEhshl of 3631 3RIERABI YUl 9 fepnr BrR1 sad forave et wit o oirer 2 Sirel Sirer 3
[Question ID = 6544][Question Description = S2_qSNz_PG_BJG_Q25]

Natal/@merer [Option ID = 25639]
Johannesburg/sitsizest [Option ID = 25640]
. Pretoria/9eif¥n [Option ID = 25641]

. Charlestown/arczfersar [Option ID = 25642]

A W N -

26) From the following books of Sir Edwin Arnold, the translation in English verse of the Gita is:
IR usldEl 3meiics &l forwoifeiRaa grawml 3 A shiar @1 3is)sh siears 2-

[Question ID = 6545][Question Description = S2_qSNz_PG_BJG_Q26]
The Light of Asia/emse sifw wfden [Option ID = 25643]

The Song Celestial/g 3isr dcif¥cerer [Option ID = 25644]

Pearls of Faith/uczt sifw wer [Option ID = 25645]

The Great Renunciation/g 3¢ Rsif3tegrer [Option ID = 25646]

AW N =

27) Gandhi maintained faith in:
a1ielt of 33 Uz frart JoIR -

[Question ID = 6546][Question Description = S2_qSNz_PG_BJG_Q27]
1. Bolshevism/diedifdaars [Option ID = 25647]

2. Communalism/zmygifasar [Option ID = 25648]

3. Factionalism/sjcsctarg [Option ID = 25649]

4. Hinduism/®&gesf [Option ID = 25650]

28) During his stay in London, Gandhi chiefly moved among
cicol YarRI @ SRIol sliehiell JIRAA: 3D AT fraRu1 B I-
[Question ID = 6547][Question Description = S2_qSNz_PG_BJG_Q28]



. Vegetarians, Reformers, Clergymen/onmoBRl, Jeract, ugst [Option ID = 25651]
. Vegetarians, Coolies, Saints/onmeBREl, aeft, 3ia [Option ID = 25652]

. Reformers, Clergymen, Saints/Jerarct, uest, 2id [Option ID = 25653]

. Vegetarians, Coolies, Clergymen/ondiert, geft, urgst [Option ID = 25654]

A W N -

29) Swarajaya, according to Gandhi, is:
sTielish & SIGRIR TR 3-

[Question ID = 6548][Question Description = S2_qSNz_PG_BJG_Q29]
Rule of Self/za=i @1 9mtet [Option ID = 25655]

Rule of Law/fafer @1 emier [Option ID = 25656]

Rule of others/sm @1 9mtet [Option ID = 25657]

Rule of Love/wmz @1 9mior [Option ID = 25658]

A w N =

30) The advanced philosophy of Gandhiji on decentralization is ‘Oceanic Circle’, which literally means:

fad>ogia2uT UR 3TiElisit BT 3oord Golet & "siiorform Afber, Br1m! onfscwm aref 3-
[Question ID = 6549][Question Description = S2_qSNz_PG_BJG_Q30]

1. Circles within circles/fser @ sicsfa a1faser [Option ID = 25659]

2. Circles outside circles/f®er @ are2 Afdber [Option ID = 25660]

3. Formation, beginning from the upper level to the lowest level/3ca 312 3 fowFar a2 dw @i fow@ifur [Option ID = 25661]
4

. A bigger circle/ww gaqg afser [Option ID = 25662]

31) In the Gandhian Model of Sustainable Development, the following is NOT its part:

forgotfeiRad A A Add fAmrRT @ alicharcl disa o1 seT ofl 3-
[Question ID = 6550][Question Description = S2_qSNz_PG_BJG_Q31]

1. Appropriate Technology /3wy gienfdrbt [Option ID = 25663]

2. Renewable Energy Sources/smaa2uler et Zqia [Option ID = 25664]

3. Sylviculture (or tree plantation)/Rifeameaz (srerar gemiuvr) [Option ID = 25665]

4. Use of chemical fertilizers and pesticides for sustainable agriculture/3aa ot & e RARI6l, IRMRIfID 3d3Pi 3l bleotord oI gRier [Option ID = 25666]

32) Mahatma Gandhi's effort was to spiritualise politics by:
FBICHT STiElt BT GRIRT $AD A A IASTolifel DI EAMMCHD U oIl oII-

[Question ID = 6551][Question Description = S2_qSNz_PG_BJG_Q32]

1. Struggle to uproot non-violence/sifér @i fomfct @2l @ fer ed [Option ID = 25667]

2. Struggle to uproot brotherhood/sigar ot fomfet ot o fere 3tad [Option ID = 25668]

3. Struggle to uproot integration/udblaur oI fowfet ot B ferw e [Option ID = 25669]

4. Struggle to uproot rebellion, fraud and cruelty/«Rarest siiz @2aral fofc w2 @ fée e [Option ID = 25670]

33) The aim of Satyagraha is NOT
AIPIE DI I8 oldl -

[Question ID = 6552][Question Description = S2_qSNz_PG_BJG_Q33]

1. Political mobilization of the masses. /SoRE @1 Askiif gdiaur [Option ID = 25671]
2. Passive support of the majority./assa @1 wer 2wreler [Option ID = 25672]

3. Abstinence./wmt [Option ID = 25673]

4. "Violent" struggle. /&3 Jad [Option ID = 25674]

34) Identify the correct statements.

A. Gandhi advised Congress to enter the Interim Government.

B. The second phase of Gandhiji's tour through the village of Noakhali commenced in February 1947.

C. On April 15, 1947, a communique was issued from Delhi releasing the joint appeal from Gandhiji and MA Jinnah
denouncing the use of force to achieve political gains.

D. Gandhi stood against mechanization in factories.

Choose the correct answer from the options given below:

Iél pel o1 Rifsea difsre-

A. aiieht of wiv)a ol A1s Fsid & o A siafysr IR 3 onfirer 8t

B. oriefisil @1 g3 <RI @I ST allsRdcil slid 3 Bast 1947 3 9z g3

C. 15 a1 1947 @i feceht A sriefish siiz 3l o1. Riooll D FRI ASHATD 1 D fore a1 gRIleI &l foict @ gu v =it sIdt & sRit



D. orwmwEl # Aifgamer @ Rie i 36 T3 U
il fou o1 fyeseul 3 3 & 3= goi ¢
[Question ID = 6553][Question Description = S2_qSNz_PG_BJG_Q34]

1.

A and B only/
@act A 3iiz B
[Option ID = 25675]

2. Band C only/dae B aiiz C [Option ID = 25676]
3. Cand D only/@qe C siiz D [Option ID = 25677]
4. Aand D only/dact A siiz D [Option ID = 25678]

A W N -

35) In 1931, the Resolution on Fundamental Rights and Economic Programme was adopted by the Indian National Congress

at:

3ot 1931 3 Rl I Piv) Rl Alferd 3ifrpR 3iiR nffs PrRiqy AFacell Fmea Fdima gn-
[Question ID = 6554][Question Description = S2_qSNz_PG_BJG_Q35]

. Bombay/wswg 9 [Option ID = 25679]

. Karachi/a2rdt 3 [Option ID = 25680]

. Ahmedabad/smsscrars 3 [Option ID = 25681]

. Poona/gut 3 [Option ID = 25682]

36) Arrange in chronological order of their occurrence.

A. Hindustan Socialist Republic Association

B. Workers and Peasant Party

C. Kakori train robbery

D. All India Trade Union Congress

Choose the correct answer from the options given below

forgsifeiRaa @ o1 afed Blol @ 3MEIR U PIIRIAGRIR cIaf¥erd bRl

A. fEgrame Aerferee fruféere w3 roore

B. a3 Us disiocar urct

C. DBroEl ¥ sdddl

D. sifer sf3am g5 Yforrer @wivfa

ofia 3w a1 fawcal 3 A A& a2 goi :

[Question ID = 6555][Question Description = S2_qSNz_PG_BJG_Q36]

A, B, C, D [Option ID = 25683]
D, C, B, A [Option ID = 25684]
A, C, B, D [Option ID = 25685]
A, D, C, B [Option ID = 25686]

)

A w N =

» U

37) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A state's principal threat "may no longer be another state, but rather a shadowy sub-state or even trans-state
network of individuals, weapons and financing."”

Reason R: In the future, wars would not be fought by armies of rival nations, "but by groupings such as terrorists, guerillas,
bandits or robbers."

In light of the above statements, choose the correct answer from the options given below

il St werel 13w 318 3 : v @ sifdraeret (A) sk g @l ad (R) sl srm 3

siffrperet (A) : il IS BT J3 TAU 34 A ASA o181 8l APl & dfed DI BRI WUT 3U-ISA 3rerar =afep:il, sRRIR iz fr divur @1
ISAR Stedd A oft TR 3 ADT 3

a® (R) : ufarsa 3 g giergel st &l Ao GRI o1&l oIST SIRPN dafeds sidaardt, affecar, STagsil AT el Sl WS GRI TIST SITSIT

SWRITb el @ el 3 footifind facul i A A6t 3az ot ¢

[Question ID = 6556][Question Description = S2_qSNz_PG_BJG_Q37]

Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) cleil 38t 3 3z (R), (A) &t 31 wmen 8 [Option ID = 25687]

Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) dlail 3@t & uzeq (R), (A) & A& == oiaf 8 [Option ID = 25688]
A is true but R is false/(A) 3t 8 weeg (R) &t aiét & [Option ID = 25689]

A is false but R is true/(A) 3t ot @ woq (R) @t & [Option ID = 25690]

A w N =



38) Given below are two statements
Statement I: Peace education involves the process of teaching people about the threats of violence and strategies of peace.
Statement Il: Peace education is oriented towards the values associated with peaceful and harmonious co-existence.

In light of the above statements, choose the correct answer from the options given below

il St werel fRu e 3 :

el - | : grifer-forem 3 cliell ot B & R siiz gnifer 61 oiferll @ ar 3 Pifdra oot B yfegam onfirer 3
el - I : orifer-forgn orifergui siik Fgraygul s-afl¥dra A wsAIRIa Al D yfer oo 3

IWRfTb el @ el 3 fowoifeiRaa fawcul 3 A 1t saz ol :

[Question ID = 6557][Question Description = S2_qSNz_PG_BJG_Q38]

Both Statement | and Statement Il are true/wserwr | 3z |l Seit 21 & [Option ID = 25691]

Both Statement | and Statement Il are false/wemr | 3iR || Si6il sler & [Option ID = 25692]
Statement | is true but Statement Il is false/ermr | 31 8, fpoq et |l swera & | [Option ID = 25693]
Statement | is false but Statement |l is true/mesol | srRI=I 8, fbog et |l 2@t & [Option ID = 25694]

A w N -

39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The need for peace as well as aggression, arises from the very conditions of man's existence in this phenomenal
world.

Reason R: Stability is a necessary condition for salubrious and fruitful social existence.

In light of the above statements, choose the most appropriate answer from the options given below

ofid A1 werot T a1e 3 : v @t siffivert (A) siiz g} @ aa (R) wal srI 3

aifdreperst (A) : 9rifer 3iiz 3IapIIvT Bl TAIBAL S TSI S A I @ ¥ ca b gom A & Icuodl kil 3
ad (R) : a4 ik wereril Al sifiaea o fore renRica smasam ord 3

SR> DIl D 3UIelld A forvotifcpa fameal 3 A A8 IR ol ©

[Question ID = 6558][Question Description = S2_qSNz_PG_BJG_Q39]

1. Both A and R are correct and R is the correct explanation of A/(A) iz (R) gl 2t 8 8l (R), (A) 6t 31t =men & [Option ID = 25695]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) cleil 3@l 3 woq (R), (A) 6l 3@ e odt 8 [Option ID = 25696]
3. Ais correct but R is not correct/(A) 3 @ wog (R) 3@t st & [Option ID = 25697]

4. Ais not correct but R is correct/(A) 3@t a8t 8 udsg (R) 28t & [Option ID = 25698]

40) The Abraham Accords (Aug 13, 2020) was signed between:
3gred Wsiiar (3PrRda 13, 2020) sora &l g3m ar-

[Question ID = 6559][Question Description = S2_qSNz_PG_BJG_Q40]

Israel, United Arab Emirates and Jordan/ssRrIcI, 3RJb 3R 3wilId &l Siiger [Option ID = 25699]
Jordan, Egypt and Bahrain/siier, e sl @ssler [Option ID = 25700]

Israel, United Arab Emirates and Bahrain/ssrrIe, 3Rjb 3Ra spfiIA siiz @@dler [Option ID = 25701]
Bahrain, Qatar and Israel/ss3e1, w2 3liz sorrIcr [Option ID = 25702]

A w N =

41) ldentify the meaning of $ila as per Buddhist philosophy.
A. Right Volition (cetana)

B. Associated mental states (cetasika)

C. Mental control (samvara)

D. Non-transgression of the Course of Conduct (avitikkama)
E. Wisdom (Pafifa)

Choose the correct answer from the options given below

dig cofel @ sreIR ofter @ sref &t sruchl 91T B SIGRIR Usare difste-
A. 3r5c diferorer (<idetn)

B. wAIRees doce weca (Aalm)

C. Jocd DU (AR)

D. sifel-¢os) 91l 3 ¢ DRI 3ii dsac (sifdframa)



E. fassa (ussn)
oii<l feu are fameal 3 A Al IR ol ©
[Question ID = 6560][Question Description = S2_qSNz_PG_BJG_Q41]

1. A, B, D and E only/

@act A, B, D sz E

[Option ID = 25703]
2. A, B, Cand D only/daer A, B, C 3iiz D [Option ID = 25704]
. A, C,DandE only/aaa A, C, D iz E [Option ID = 25705]
4. B, C, D and E only/a3ae B, C, D iz E [Option ID = 25706]

w

42) ldentify the exponents of yogacara or vijianavadin
A. Asanga

B. Bhavaviveka

C. Dignaga

D. Dharmakirti

E. Aryadeva

Choose the correct answer from the options given below:

APIrER 3reral faserart smarit b usare o3-

A. 3rier

B. sma fade

C. fesatrer

D. epidbifet

E. sm=ica

oA R s1e Riecdl # A a1 & a2 o ¢

[Question ID = 6561][Question Description = S2_qSNz_PG_BJG_Q42]

1. A, Band Conly/

@act A, B sz C

[Option ID = 25707]
2. B, C and D only/daer B, C iz D [Option ID = 25708]
. C, Dand E only/asaer C, D iz E [Option ID = 25709]
4. A, Cand D only/daer A, C 3z D [Option ID = 25710]

w

43) ldentify the components of the eightfold path.
A. Right Speech

B. Right Effort

C. Right Path

D. Right Determination

Choose the correct answer from the options given below:

arecifdres oIt @ sisll & usdrer @3-

A. @ aray

B. 3@ carIme

C. &Iy st

D. I&I@ 3iveu

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 6562][Question Description = S2_qSNz_PG_BJG_Q43]

1. A, Cand D only/

@act A, C 3z D

[Option ID = 25711]
2. A, B and C only/a5aer A, B siiz C [Option ID = 25712]
. B, Cand D only/dae B, C siiz D [Option ID = 25713]
4. A, B and D only/dsaet A, B iz D [Option ID = 25714]

w



44) Identify the Samskrit Dharmas as per the philosophy of Vaibhashikas.
A. Rupa

B. Vedana

C. Akasa

D. Samskara

Choose the correct answer from the options given below:

Jo1Ifeyep g9lor D SroRAR Jrapd et 3-

A. 3a

B. dgon

C. 3mar9r

D. Jdzr

oA Ry s1e el # A & a2 o ¢

[Question ID = 6563][Question Description = S2_qSNz_PG_BJG_Q44]

1. A, Band Conly/

@act A, B sz C

[Option ID = 25715]
2. A, Cand D only/a>aet A, C siiz D [Option ID = 25716]
. A, B and D only/dsaet A, B siiz D [Option ID = 25717]
4. B, C and D only/dae B, C 3iiz D [Option ID = 25718]

w

45) Which of the following are correct about the Stiipa?

A. In all, the remains of the Buddha were divided into ten parts.

B. Brahmana Drona was one of the beneficiaries.

C. Mauryas of Pipplivana took the pieces of coal from the funeral pyre.
D. A Bhrahmana from Kosambi was also one of the beneficiaries.

Choose the correct answer from the options given below:

QU D aR F 78 frpedl Bt usdrel B3-

A. gg @ 3radrdl ol et g |l 3 dicr srm 3

B. gra1o1 QYut cmenffRi 3 A v e

C. Rouciiaer & ikl RIar ur A BRIC 36T B2 o 31

D. wlons<l &1 U ra1vr off crsnfdfil 3f 31 ues e

ofid fou a1 el 3 A 8t 3Tz ol :

[Question ID = 6564][Question Description = S2_qSNz_PG_BJG_Q45]

1. A, Band D only/

@act A, B siz D

[Option ID = 25719]
2. B, Cand D only/aaer B, C siiz D [Option ID = 25720]
. A, B and C only/dae A, B aiiz C [Option ID = 25721]
4. A, Cand D only/@qet A, C siiz D [Option ID = 25722]

w

46) The Buddhist monuments discovered at Sarnath are:
A. Dhammekha Stiapa

B. Dharmarajika Stapa

C. Malagandhakuti

D. Dharmacakkajina Vihara

E. Asokan Pillar

Choose the correct answer from the options given below:

ARoY I Yid dig; JARD 3-
A. garEa Fqua



B. eraRifin Fqu

C. gemierpd

D. ermramiser R

E. smolw s

il fou a1 fraseul 9 2 & 3a= goi ¢

[Question ID = 6565][Question Description = S2_qSNz_PG_BJG_Q46]

1. A, Band Conly/

@act A, B siz C

[Option ID = 25723]
2. A, B, Cand D only/a@aet A, B, C 3iiz D [Option ID = 25724]
B, C, D and E only/aaet B, C, D sfiz E [Option ID = 25725]
4. A, B,C,DandE/A, B, C, D siiz E [Option ID = 25726]

w

47) Identify the correct options:

A. Buddhadatta summarized Buddhaghosa's commentaries on the Abhidhammapitaka.
B. Buddhadatta has not compiled Adhimmavatara

C. Both Buddhaghosa and Buddhadatta studied at Mahavihara in Anuradhapura

D. Buddhadatta followed Buddhaghosa blindly

E. Buddhadatta worte Vinaya-viniccaya

Choose the correct answer from the options given below:

A3l Rrpeul &t usara Hifsre-

A. ggcd of ggald @ fEEAftcd B ST DI ARIADVT f[par

B. ggod of sifdrerdAddr ofdl feran

C. ggH 3R ggod Slell of eRIENY2 D IeIfder 3 fArei sfpur &t

D. ggod of ggald I 3SR ofulciol fep=r

E. ggad o fora faforarr &t o &I

il fou o1 freseul 3 3 & Fa= goi ¢

[Question ID = 6566][Question Description = S2_qSNz_PG_BJG_Q47]

1. A, BandConly/

@act A, B aiiz C

[Option ID = 25727]
2. A, Cand E only/a@aet A, C siiz E [Option ID = 25728]
B, C and D only/a@aa B, C siiz D [Option ID = 25729]
4. C, D andE only/@ae C, D siz E [Option ID = 25730]

w

48) Jain artistic temples were found at
A. Khajuraho

B. Varanast

C. Delavada

D. Rajgraha

Choose the correct answer from the options given below:

Siol DRI i AT urg S 3

A. @t

B. armrit

C. Serarst

D. =E5E

oA Ry s1e Riescdl # A & a2 o ¢

[Question ID = 6567][Question Description = S2_qSNz_PG_BJG_Q48]

1. Aand B only/
Dact A iz B
[Option ID = 25731]



2. Aand D only/dact A siiz D [Option ID = 25732]
3. Aand C only/dact A 3iiz C [Option ID = 25733]

4. B and D only/a@ac B siiz D [Option ID = 25734]

49) Which of the following are included in the Svetambara sect?
A. Sthanakavasi

B. Martipajaka

C. Bisapantht

D. Taranapantht

E. Kanjipantht

Choose the correct answer from the options given below:

JAEER AYGRI 3 As AfdaAfera -

A. Faermarit

B. gfcgsra

C. dirruelt

D. arvrueft

E. wistideft

il fou s1u fRypeul 3 21 & 3a= goi ¢

[Question ID = 6568][Question Description = S2_qSNz_PG_BJG_Q49]

1. Aand B only/

Baet A siiz B

[Option ID = 25735]
2. Aand C only/dbacr A siiz C [Option ID = 25736]
3. Band C only/dqe B aiiz C [Option ID = 25737]
4. Cand D only/daer C siiz D [Option ID = 25738]
50) Identify from the following places which are related to Lord Parshva
A. Girinar - Junagarh
B. Sravanabelagola
C. Sammed - Shikhar
D. Vaisalt
E. Varanast

Choose the correct answer from the options given below:

forgsiferlRae 31 31 3o1 rerell @I usdre! Sil #oIare urkd A A 3-

A. Bif¥eir-goieie

B. graurdersitenn

C. J3dic-ORae

D. dorrcil

E. armrit

oA R s1e Riecdl # A a1 a2 goi ¢

[Question ID = 6569][Question Description = S2_qSNz_PG_BJG_Q50]

1. Aand B only/
@act A sz B
[Option ID = 25739]
2. A, B and D only/dbaer A, B iz D [Option ID = 25740]
. Cand E only/aaet C siiz E [Option ID = 25741]
4. C, D and E only/dae C, D siiz E [Option ID = 25742]

w

51) According to Jainism, which of the following are NOT included in charity?
A. Medicine (Ausadhi)
B. Vegetarianism (Sakahara)

C. Food (Ahara)



D. Meditation (Dhyana)
E. Fearlessness (Abhaya)

Choose the correct answer from the options given below:

Stot &3l @ 3IGAR <rot 3 A AldaAfera ot 3-

A. situfer

B. onweR

C. amsr

D. et

E. a1

il fou o1 freseul 3 21 & Fa= goi ¢

[Question ID = 6570][Question Description = S2_qSNz_PG_BJG_Q51]

1. A, Band Conly/
Dact A, B siiz C
[Option ID = 25743]
2. B and E only/daet B iz E [Option ID = 25744]
3. C, Dand E only/@aa C, D iz E [Option ID = 25745]
4. B and D only/a@act B siiz D [Option ID = 25746]
52) Varanasi is famous in Jain tradition for
A. Pars$vanatha Vidyasrama Research Institute
B. Prakrit Research Institute
C. Apabharnsa Akademy
D. Syadavad Mahavidyalaya
E. Jain Visva Bharti

Choose the correct answer from the options given below:

Stol T A arRfl safiw giing 3-

A. uredorrer faemofar oner Izeurel

B. graa oier dAzerst

C. 3rusjor It

D. *igrc ssIdEncr

E. Sior fara smcht

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 6571][Question Description = S2_qSNz_PG_BJG_Q52]

1. Aand B only/
@dct A 3iiz B
[Option ID = 25747]
2. Aand D only/daer A siiz D [Option ID = 25748]
3. Aand C only/@aet A siiz C [Option ID = 25749]
4. Aand E only/dac A siz E [Option ID = 25750]
53) According to Jainism, the following statements about the universe are NOT correct.
A. Universe runs on its own.
B. It has its own cosmic laws.
C. All substances change their forms continuously.
D. There is a creator.

E. God is the destroyer.

Choose the correct answer from the options given below:

FoIUS D Aol I STol URWRI D ORI A P AL 18l 3-
A. gEnvs Fazi Faifera 3



B. 51 3ol genvskI forEr &

C. 131l goa bl vl forRaR scerdt el 3

D. suwmr i foraafar 3

E. $waz dsno 3

il fou s1e fraseul 9 2 & 3a= goi ¢

[Question ID = 6572][Question Description = S2_qSNz_PG_BJG_Q53]

1. Aand B only/
et A 3k B
[Option ID = 25751]
2. Aand C only/dact A sz C [Option ID = 25752]
3. D and E only/daer D siiz E [Option ID = 25753]
4. Band D only/dact B aiiz D [Option ID = 25754]
54) ldentify the similarities between Science and Jainism.
A. Plants have Jiva.
B. Eating before sunset is hygienic
C. Materialistic pleasures are achieved by virtue of the previous birth.

D. Suffering is achieved by the sins of the previous birth.

Choose the correct answer from the options given below:

Siol gofel ud farstrer 31 JAaTGIaT &1 usarer ISR

A. gsaii 3 Sftaor 3

B. Jaira @ yd silsiol @2ell FareAYS 3

C. siifer 3l &I gifty gydstoa o go=r A Bl 3

D. ga & gifit ydsiosr o> ura A aKil 3

offa fou o1 frapeul 3 21 &l 3a= goi ¢

[Question ID = 6573][Question Description = S2_qSNz_PG_BJG_Q54]
1. A and B only/dact A siiz B [Option ID = 25755]

2. Aand C only/dact A 3iiz C [Option ID = 25756]

3. B and C only/dac B aiiz C [Option ID = 25757]

4. Cand D only/daer C siiz D [Option ID = 25758]

55) Identify important events related to Jain Tirthankaras.
A. Garbha Kalyanak

B. Dana Kalyanak

C. Vivaha Kalyanak

D. Tapa Kalyanak

Choose the correct answer from the options given below:

Siol efiefa3l bl sIsTayyl wcesil o usafere-

A. 3ni Bcave

B. crot Wi

C. fars weavIs

D. au ocavrs

ofid fou a1 el 3 2 A8t STz gt ¢

[Question ID = 6574][Question Description = S2_qSNz_PG_BJG_Q55]

1. Aand B only/

@ac A siiz B

[Option ID = 25759]
2. Aand C only/dsaet A siiz C [Option ID = 25760]
3. Aand D only/daer A siiz D [Option ID = 25761]
4. B and C only/a@ae B siiz C [Option ID = 25762]

56) Justice depends upon values like



A. Truth

B. Violence

C. Liberty

D. Fraternity

E. Non-cooperation

Choose the correct answer from the options given below:

SART 3ol el ur forsfe B 3-

A. I

B. &

C. Fadqgar

D. sogea

E. srsier

il f3u a1 fyaseul 9 A W& 3= goi ¢

[Question ID = 6575][Question Description = S2_qSNz_PG_BJG_Q56]

. A and B only/daet A siiz B [Option ID = 25763]

. A, Band C only/asaet A, B sfiz C [Option ID = 25764]

. A, B, Cand D only/aaer A, B, C 3iiz D [Option ID = 25765]
. A, Band E only/@act A, B 3iiz E [Option ID = 25766]

A w N =

57) Bread Labour according to Gandhi is:

A. to earn their daily bread by supervising others

B. to earn their daily bread by the sweat of their own brow
C. humility inherent in labour

D. to earn their daily bread by the sweat of others

Choose the correct answer from the options given below:

alielt & sioAR Shfaaiursier o (I3 deR) 23-

A. 31cu cafepal @1 uridgvr i ot sishifdasT sifsfa e

B. srueir uRileln serme Sforap smsiifapt 3ifsia wen

C. o 3 siaferfda faetarar

D. 3rca cafepal @ uRflol A 3rueil srsiifar sifsfa wen

il fou o1 fyapeul 3 21 & 3= goi ¢

[Question ID = 6576][Question Description = S2_qSNz_PG_BJG_Q57]

A and B only/@act A 3iiz B [Option ID = 25767]

B and C only/dqet B siiz C [Option ID = 25768]
C and D only/@aet C siiz D [Option ID = 25769]
A and C only/d@act A siiz C [Option ID = 25770]

A WN -

58) True Civilization is:

A. that mode of conduct which points out to man, the path of duty

B. performance of duty and observance of morality are convertible terms
C. to observe morality is to attain mastery over the mind and our passions
D. to know about the use of rights only

E. performance of duty and observance of morality are inconvertible terms

Choose the correct answer from the options given below:

arafae sref 3 s 3-

A. 3iraRvr 6t g faf RREl cafts & wder-uer @1 3ccra aiar 3

B. oo forsurcet 3iiz siferasar uf¥adofizr ug 3

C. Siferper @1 Urctol ARISD 3i7 Aol B 3ol a9r & wal & foifdr 3



D. o@qet SifirpRI @ YT & aR 3 Siieloll
E. odea forsurcet iz siferasdr @i srefurctel sruf¥adofizr us 3
il fou o1 freseul 3 21 & Fa= goi ¢
[Question ID = 6577][Question Description = S2_qSNz_PG_BJG_Q58]
1. A, Band Conly/
et A, B iz C
[Option ID = 25771]
2. A, C and E only/dac A, C sz E [Option ID = 25772]

. B, Cand D only/a3qe B, C siiz D [Option ID = 25773]
4. C, Dand E only/aaet C, D 3l E [Option ID = 25774]

w

59) Which of the following represent Gandhi's views on the training for non-violence
A. Non-violence does not require any outward training

B. Non-violence cannot be learnt by staying at home, it needs enterprise

C. It is essential to learn violence before we can learn non-violence

D. Non-violence requires all types of training

Choose the correct answer from the options given below:

forgot 3 A wlar 3ifdar & forw gfdreor uz stieh @ framrit @1 forsuvr 3

A. 3ifEar 3 oot asdt yfdrgor & smagadsar sidl st

B. 1z u? Yz sifdar ol Aixdt ot AGAl sad foru e bt smragamar uscdl 3
C. 3 @ siféemt A1 gd & et simaeAae® 3

D. aifdam 3 3ft goore 1 yforgior smfda 3

il fou s1e fyseul 3 21 & 3a= goi ¢

[Question ID = 6578][Question Description = S2_qSNz_PG_BJG_Q59]

A and B only/@act A 3iiz B [Option ID = 25775]
B and C only/d3aet B siiz C [Option ID = 25776]
C and D only/a@aet C 3iiz D [Option ID = 25777]
A and D only/d@act A siiz D [Option ID = 25778]

A WN -

60) Gandhiji's suggestions on prohibition include which of the following?

A. All existing liquor shops should be, wherever possible, converted into refreshment and recreation rooms.
B. Violent action against the addicts.

C. Causes of the habit in typical areas should be carefully investigated and dealt with.

D. Not to establish intimate personal contact with the addicts.

Choose the correct answer from the options given below:

forder o ferw sifeht o1 Jysma 3-

A. 3191 Rrerrol 9RTE bl gpreil @1, SI8f w3l ot via 8l, Sicrurel 3iR Hollslol weil I ulvafda e sien aifde
B. wraforil & frg e oriars

C. genfad Siqi 3 RIAcl D BRUII DI eATIgdD Hedyul 3iiz $ADI foructel fpan siren ifde

D. wraforRIl @ AT 3ol FAfbd AUAS BRIA Boll oIl AT

ofia 3w a1 el 3 A A8 a2 goi -

[Question ID = 6579][Question Description = S2_qSNz_PG_BJG_Q60]

A and B only/d>qet A siiz B [Option ID = 25779]
A and C only/@ac A siiz C [Option ID = 25780]
C and D only/a@aet C 3fiz D [Option ID = 25781]
B and D only/daet B siiz D [Option ID = 25782]

A w N -

61) ldentify the correct statements with respect to Gandhiji.
A. The Congress will die a natural and deserved death if and when it substitutes reason and moral influence by goondaism

B. If the heads of the Congress committees are indifferent or supine; the corruption cannot be dealt with

C. The Congressmen are weak



D. The Congress was socialist in its ideology

Choose the correct answer from the options given below:

aitelt @ Focst 3 Weft el o Rifssa Hifsre-

A. 59 off Do ads 3iiz oifersdr & FeIrel UR JSPIET ol FsRI cfl Mil As Faa: iR APy o Yrd 3l siresit
B. afe wio)a ARRRI & yero grRiler 2 BifSazr &9 dY sfecrarR @1 forarvr oidl 8 Adar 3

C. o)A @ vt gdel 3

D. o) &l faaremn Aasarc off

ofia 3w a1 el 3 A A8 a2 goi -

[Question ID = 6580][Question Description = S2_qSNz_PG_BJG_Q61]

A and B only/d>qet A siiz B [Option ID = 25783]
B and C only/@aet B 3iiz C [Option ID = 25784]
C and D only/aaet C 3fiz D [Option ID = 25785]
A and D only/a5act A siiz D [Option ID = 25786]

A w N =

62) Greenpeace is an independent campaign organisation that uses

A. Violent creative confrontation to expose global environmental problems
B. Force solution for a green and peaceful future

C. Champions nuclear disarmament

D. Bans small arms

Choose the correct answer from the options given below:

Sfferdlxt v Faciq U A JRA actrel arct Fsrod 3 BRIl A g 6 S 8 -
A. g wRIiaRviRI FH=I31 Pl ISIPR @0l B e Bad JslelcdA® cpEa
B. af¥a siiz oriferguf sifdea & fére Fremenst U= & Sont

C. urdY] forR{ia=u1 DI 3113l AGIell

D. 81 srqi @I gferder

offa fou o1 fyeseul 3 21 & 3= goi ¢

[Question ID = 6581][Question Description = S2_qSNz_PG_BJG_Q62]

A and B only/dact A siiz B [Option ID = 25787]
B and C only/dact B sfiz C [Option ID = 25788]
C and D only/dsaet C siiz D [Option ID = 25789]
A and D only/@act A siiz D [Option ID = 25790]

A W N -

63) The goal of Greenpeace is to fulfil its mission through
A. Whistle-blowing

B. Awareness raising

C. Political lobbying

D. Trade

Choose the correct answer from the options given below:

ffordilaT BT €18 SoTd> HIEAH A Ul f3IOrGT DI Y Bl 3-

A. JT6I YeIel Bl (3T 36T611)

il feu sru faresedl 3 A A Ia= gol ¢
[Question ID = 6582][Question Description = S2_qSNz_PG_BJG_Q63]

1. A, BandConly/
@dact A, B 3z C
[Option ID = 25791]



2. A, Cand D only/dact A, C siiz D [Option ID = 25792]
3. B, C and D only/dae B, C siiz D [Option ID = 25793]

4. A, Band D only/dact A, B aliz D [Option ID = 25794]

64) Identify the correct statements

A. A large number of women actively took part in the Bardoli Satyagraha

B. The women gave Vallabh Bhai Patel the moniker 'Sardar’

C. The movement was very successful

D. The movement raised the problem of Hali Pratha (bonded labour system)

Choose the correct answer from the options given below:

8l weoll @ fifsaa Hifsre-

A. SRcIch IcaEE 3 S35 e A Afdensii o 3= frm or

B. #fdemaii of acer air$ ueel @I 'WER' & Iunfdn

C. 3ricictol Iferd Awe Bl

D. 521 s1iciciol of aIcll o (&3 HIGE AAeT) DI HET ORI AT

offa fou s1u fyeseul 3 2 & 3a= goi ¢

[Question ID = 6583][Question Description = S2_qSNz_PG_BJG_Q64]

A and B only/@act A 3iiz B [Option ID = 25795]
B and C only/dqct B sfiz C [Option ID = 25796]
C and D only/@saet C siiz D [Option ID = 25797]
A and D only/d@act A siiz D [Option ID = 25798]

A W N -

65) lIdentify the correct statements

A. The Quit India Movement was most powerful in Kheda, Surat, Baruch and Baroda in Gujarat
B. Congress had a very weak hold in these four districts

C. The movement started with labour strikes, hartals and rioting

D. Vallabh Bhai Patel himself was believed to have prepared a blueprint for sabotage activities

Choose the correct answer from the options given below:

I3l Berll @t Rifosa w3-

A. 3R SIS 3HiCIciol IBERIA D WST, I, R 3R ISicl 3 TRA R AT

B. wio)a &l so1 ari freil 3 aga wasir Reafer off

C. 53 aricieror bt 9Farrd fdrepi &l s3ret iz <ol A g8

D. a1 #Arol Sirdr 3 fb dectst 9 U of Fari sl fAwerdr &bt wuar dar & oft
ofia 3w a1 fawcal 3 A A& a2 goi :

[Question ID = 6584][Question Description = S2_qSNz_PG_BJG_Q65]

1. A, BandConly/

@act A, B sz C

[Option ID = 25799]
2. B, C and D only/daet B, C sz D [Option ID = 25800]
. A, Band D only/asaet A, B sfiz D [Option ID = 25801]
4. A, Cand D only/daer A, C 3z D [Option ID = 25802]

w

66) Match List | with List Il

List | List Il

A. Vaibhasika |l Santaraksita
B. Madhyamika |Il. Asanga

C. Vijianavadi |[lll. Buddhadeva
D. Sautrantika [IV. Subhagupta
Choose the correct answer from the options given below:

et -l oot 3 -1l A Fafera Hifsre :

fercht -| farcht Il




A. Jonfers I. enia=fgra
B. ameafiis Il. arder
C. farsiorarst lll. ggoa
D. diqifera IV. oper

ofl fou o1 fypeul 3 3 A IR gforw ¢
[Question ID = 6585][Question Description = S2_qSNz_PG_BJG_Q66]

1. A-1l,B-1ll,C-1V,D-1|[Option ID = 25803]

2. A-1lIl,B-1,C-1l,D-IV[Option ID = 25804]

3. A-1V,B-1,C-Il,D- Il [Option ID = 25805]

4. A-1,B-1l,C-1l, D - IV [Option ID = 25806]

67) Match List | with List

List | List Il

A. Yasa I. Openly declared Dasavathiini to be unlawful

B. Revata Il. Elected president to settle the issue of Dasavathini

C. Sabbakamillll. Suggested that monks proceed to Vaisali in order to settle the dispute

D. Ajita

IV. Appointed seat regulator

Choose the correct answer from the options given below:

It -l @1 3 -1l 2 Faifera HifSte ¢

et -1 Rt -1l

A. I |. gararessil @I et diz ur srde aiftia foar srRn

B. Yaa Il. c3arell @ #a @ foructor 3q siegt foralfera gu

C. srcamnil (|ll. #RET & foructo 3q gt @1 Jorcil ol @1 uzpIel o
D. aifSta  |IV. siRiar-formare @ wu 3 BRI gu

oflax fRu o1 el 3 A At I gfom :

[Question ID = 6586][Question Description = S2_qSNz_PG_BJG_Q67]

1. A-1,B-1ll,C-1l, D- IV [Option ID = 25807]
2. A-1,B-1l,C-1ll, D - IV [Option ID = 25808]
3. A-1,B-1Il, C-1V, D- Il [Option ID = 25809]
4. A-1V,B-1ll,C-1Il, D - I [Option ID = 25810]
68) Match List | with List Il

List | List Il
A. Cessation of suffering (Dukh Nirodha) [Il. Collection of the words of the Buddha
B. Kangyur Il. Four Noble Truths
C. Feeling (Vedana) lll. Nying Ma
D. Ter IV. Dependent origination (Pratityasamutpada)

Choose the correct answer from the options given below:

et

-1 Bt 35t -1l A gaRma B

et

N el -l

A. 9101 3iTw Afl 31 (g2 forlen)

|. gg a<ell @I s

B. iz Il. @R 3Rl e
C. bifeist (dgotn) . sfis-an
D. &= IV. 3u3e sif¥fSolore (Yeiicrigaurc)

il fou o1 frseul 3 I A8 IR o ©

[Question ID = 6587][Question Description = S2_qSNz_PG_BJG_Q68]

1. A-1I,B-1ll, C-1V, D - | [Option ID = 25811]
2. A-1ll, B-1V,C-1,D- Il [Option ID = 25812]
3. A-Il,B-1,C-1V,D-Ill [Option ID = 25813]
4. A-1,B-1l,C-1ll, D- IV [Option ID = 25814]
69) Match List | with List Il

List | List Il

A. Acarya Kundakunda |l. Sanamatitarka

B. Acarya Umasvami [Il. Astasati

C. Acarya Siddhasena

lll. Tatvarthasutral

D. Acarya Akalanka IV. Samayasara

Choose the correct answer from the options given below:




It -1 Bt el -1l A gakma Hifde

Rrett -1 il

A. 3Rl BWogaeg |. Jcaferas
B. smarf Sarantt Il. srscoredt
C. srart RBigier . arearelyeg
D. srarf srabciad V. JRRIR

il f3u a1 fyseul 3 A At IR gfom :

[Question ID = 6588][Question Description = S2_qSNz_PG_BJG_Q69]

A-1,B-1l,C-1ll,D-IV[Option ID = 25815]
A-11,B-1,C-1V,D-Ill [Option ID = 25816]
A-1Il,B-1IV,C-1l,D-I[Option ID = 25817]
A

-1V, B-1ll, C- 1, D - Il [Option ID = 25818]

A w N =

70) Match List | with List Il

List | L

ist Il

A. Puggalajivana thanasahayart

l.

Ajiva

B. Puggalajivana gamanasahayart 1

. Bandha

C. Prakrti-Sthiti-Anubhaga-Pradesa |l

|I. Adharma

D. Puggaladhammo Adhamma-Ayasam

IV. Dharma

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

ot -1 il
A. YooTcTSIIdIvT SIVRISAIRT I. sfia
B. gooIcrsilanT SHvRIGIRT Il. e
C. ymfer-fafer-sopmsT-ygor Ill. srersf
D. goercierddll e - 3IRIR IV. erat

oif<l feu aru fawedl 3 A A8l 3R gforu :

[Question ID = 6589][Question Description = S2_qSNz_PG_BJG_Q70]

1. A-1l,B-1V, C-1, D - lll [Option ID = 25819]
2. A-1V,B-1ll,C-1l,D- I [Option ID = 25820]
3. A-1Il,B-1V,C-1l,D- I [Option ID = 25821]
4. A-11,B -1, C-1V, D - | [Option ID = 25822]

71) Match List | with List Il

List | List Il

A. Pars$vanath Vidyapeeth Research Institute, Varanasi |l. Tulsi Prajia
B. Veer Seva Mandir, Delhi Il. Prakrit Vidya|
C. Jain Vishva Bharati Institute, Ladnun 11l. Anekant

D. Kund-Kund Bharati, Delhi IV. Sramana

Choose the correct answer from the options given below:

it -l oot 3 -1l A Fgafera HifSie :

Rpet -1 oreht -

A. urederrer femdis ofter Jzeurel, arRR |. geril gzt
B.dlz 2¥ar 3ifez, foeeit Il.gra foen
C. Stol fara sirefl Jiverme, oS, 1. sormia
D .oc-moc Hrdl, focll IV. oparur

oifa feu aru faasedl 3 A A8 3R gforu :

[Question ID = 6590][Question Description = S2_qSNz_PG_BJG_Q71]

1. A-1I,B -1V, C-1, D - Il [Option ID = 25823]
2. A-1IV,B-1ll,C-1,D - Il [Option ID = 25824]
3. A-1Il,B-1V,C-1l, D - I [Option ID = 25825]
4. A-1,B-1ll,C-1V, D - | [Option ID = 25826]

72) Match List | with List Il

List | List Il

A. Sati System

|. Vidyasagar

B. Devadast System

Il. Durgaram Mehtaji

C. Widow remarriage

Ill. Raja Ram Mohan Roy

D. Denial of Education to women

IV. R. Venkata Ratham Naidu




Choose the correct answer from the options given below:

et -1 B e -1l A @ i

et -1 il

A. et gem |. fRemIeR

B. gacrdl gar Il. gart 311 Asen it

C. faerar yafdars Ill. 3rsm 301 Hsat IRA
D. afdemsii oot fdre1r ¥ dffia fasan siren IV. 3R dave Feotdt oIRTS,

ofiax 3w o1 el 3 A A I gfom :
[Question ID = 6591][Question Description = S2_qSNz_PG_BJG_Q72]

A-11,B-1,C-1ll, D - IV [Option ID = 25827]
. A-1ll,B-1V,C-1,D - Il [Option ID = 25828]
A-1,B-1ll, C-1I, D - IV [Option ID = 25829]
A-1V,B-1l,C-1ll, D - | [Option ID = 25830]

AW N =

73) Match List | with List Il

List | List Il
IA. Gandhi on Women |. Kaka Kalelkar
B. Gandhi's Emissary Il. Pushpa Joshi

C. Stray Glimpses of Bapu |lll. Sudhir Ghosh
D. Bapu Meri Nazar Mein |IV. Jawahar Lal Nehru
Choose the correct answer from the options given below:

el -1 @1 g -1l A Fgaifera Hifsre ¢

Rret -1 et -l

A. aifeft sifer didter |. DIPT Derd

B. srifrrer wiirrst 1. gour sheft

C. ¥ Boed sifw arg, Ill. Jefe =

D. arg ¥ ororR 3 IV. Srars? e o6

offa fou o1 frseul 3 3 A IR gforw ©
[Question ID = 6592][Question Description = S2_qSNz_PG_BJG_Q73]

A-1,B-1V, C-1ll, D- Il [Option ID = 25831]
A-1V,B-1,C-1,D- Il [Option ID = 25832]
A-1,B-1ll,C-1,D - IV [Option ID = 25833]
A-1l,B-1I,C-1V, D - [Option ID = 25834]

A W N -

74) Match List | with List I

List | List Il
A. Dr. Amartya Sen |. Peoples’ Security
B. Juan Somania Il. Welfare Economics

C. Dr. Mehbub-ul-Hagq [lll. Nobel Prize for Environment
D. Gretchen C. Daily |[IV. Human Security
Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera dbifSie

Rredt -1 Rreht -1

A. Staez et Aot |. diuca RBraiiié (clies Jz8m)

B. S3irol FAHIfoRIT Il. deTBRR sPIGIHIaRT (DTt efom=))
C. Sfac? Asga-3c1-3D Ill. oRifazur @ ferg ollder YerdR

D. 3Jorat 2flo Scft IV. sirora e (|xg1o1 Ria=fe )

oifY feu oru famedl 3 A 8 3R gforu :
[Question ID = 6593][Question Description = S2_qSNz_PG_BJG_Q74]

1. A-1,B-1I, C-1Il, D - IV [Option ID = 25835]
2. A-1I,B-1ll, C- 1V, D - | [Option ID = 25836]
3. A-1IV,B-1ll, C-1l,D-I[Option ID = 25837]
4. A-11,B-1,C-1V, D - Il [Option ID = 25838]

75) Match List | with List Il

List | List Il

A. William James |l. "More (nuclear weapons) is better."”
B. Johan Galtung [Il. "Universal civilization”




C. Kenneth Waltz|lll. Peace Psychology
D. V. S. Naipaul [IV. Structural Violence
Choose the correct answer from the options given below:

It -1 ot gt -1 2 gifera difore ¢

oxeht - | Rl
A. faferer Set I. "siferes (omfdrbRI o)) JeaR 3 "
B. Sileal sreidsT 1. "archiifdrn a3erar”

C. dborel arcest 1. erifer Froiifrsiror (dia ArsDIciisil)
D. di. g2t oifrdfer IV. Jiveica® B (Igaare driciz)

oifa feu aru fasedl 3 A 8 3R gforu :
[Question ID = 6594][Question Description = S2_qSNz_PG_BJG_Q75]

A-1,B-1I,C-1ll, D - IV [Option ID = 25839]
A-1l,B-1V, C-1,D -l [Option ID = 25840]
A-1V,B-1ll, C-1I, D- I [Option ID = 25841]
A-1,B-1,C-1V, D - Ill [Option ID = 25842]

A w N =

76) Arrange the names of the following Dalai Lamas of Tibet in chronological order (from former to latter)
A. Tsangyang Gyatso

B. Nagwang Lobsang Gyatso

C. Thinlay Gyatso

D. Sonam Gyatso

E. Yontan Gyatso

Choose the correct answer from the options given below

PICTRAIRIR {fead @ Gel$ el & ofidl DI RMai¥erd m3

A. cHisieT sl

B. cIeTaresT claRdisT saTcAl

C. Jior-a1 saret

D. omr Tt

E. <Yordot sarcail

il fou s1u fyeseul 3 2 & 3a= goi ¢

[Question ID = 6595][Question Description = S2_qSNz_PG_BJG_Q76]

D, E [Option ID = 25843]
E, A [Option ID = 25844]
, A, B [Option ID = 25845]
A, C [Option ID = 25846]

A W N -

77) Major Rock Edicts have been discovered in Modern India. Arrange the following in chronological order (from first to
last)

A. Sopara
B. Kalsi

C. Jangada
D. Dhauli
E. Girnar

Choose the correct answer from the options given below

amgyfores HRA 3 =1 POrcrrca Bicl 3 o1 XISl @ PIcipA Pl galerd o3 (dsad A 3id a®)-
A. ARy
B. rer=ft
C. silerg
D. siifer
E. Brer



il fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 6596][Question Description = S2_qSNz_PG_BJG_Q77]
E, B, C, A, D [Option ID = 25847]

A, B, C, E, D [Option ID = 25848]

E, D, C, B, A [Option ID = 25849]

A, B, C, D, E [Option ID = 25850]

)

A W N -

P2}

78) Arrange the following pioneer Indian Bhikkhus chronologically in order of the year of their accepting monkhood.
A. Jagdish Kashyap

B. Dharmanand Kosambi

C. Mahavira

D. Anand Kausalyayan

E. Bodhananda

Choose the correct answer from the options given below

forraiferRaa seyuft sireilr f3rggaii ol Iorad fire] dotol B adf & PIITUIGRIR RAf¥ed d3-
A. SPIéI BI9au

B. erfoic oleaielt

C. Ferdlz

D. 3116ic Dl9cARIs

E. diemsios

il fRu o1 et 3 A 7 3= goi ¢

[Question ID = 6597][Question Description = S2_qSNz_PG_BJG_Q78]

E, A, B, D [Option ID = 25851]
B, E, D, A [Option ID = 25852]
, A, B, E, D [Option ID = 25853]
D, E, A, B [Option ID = 25854]

1 )
2.

3.

4 b
79) Identify the correct sequence (first to last) of Namokar Mantra
A. Acarya

B. Upadhyaya

C. Sadha

D. Arihant

E. Siddha

Choose the correct answer from the options given below

VIR 3] BT A8 31 (YIRIN A 3id ap) Ugaion-

A. srart

B. 3ureara

C. g

D. aif¥ga

E. RBrg

ofid fou a1 el 3 A 8t I gl ¢

[Question ID = 6598][Question Description = S2_qSNz_PG_BJG_Q79]

D, E [Option ID = 25855]
, B, A [Option ID = 25856]
B, E [Option ID = 25857]
B, C [Option ID = 25858]

A WN =
oom>»
mao 9w
>>00

80) lIdentify the correct chronological order from the earliest to the more recent
A. Yasovijaya

B. Jinasena



C. Umasvami
D. Samanta Bhadra
E. Kundakundacarya

Choose the correct answer from the options given below

BITGHTGRIR Yreflor A 3fErdol &l A8 usare Hifsre-

A. aonfersrr

B. frerRlar

C. 3arart

D. e 91

E. socamserIrt

il feu aru fareseal 3 A A Ia= goi ¢

[Question ID = 6599][Question Description = S2_qSNz_PG_BJG_Q80]

1. A, B, C, D, E [Option ID = 25859]
2. E, D, C, B, A [Option ID = 25860]
3. A, B, C, E, D [Option ID = 25861]
4. B, C, D, E, A [Option ID = 25862]

81) Identify the correct sequence from the first to the last

A. Antaraya Karma

B. Darsanavarana Karma
C. Mohaniya Karma

D. Nama Karma

E. Vedaniya Karma

Choose the correct answer from the options given below

g A 3ifera @ o A A8 I ol usarfore-

A. iR wat

B. goloirazur wat
C. ssofln wat

D. aimr wat

E. acoflr wat

il fou s1e fraseul 9 A W& 3= goi ¢

[Question ID = 6600][Question Description = S2_qSNz_PG_BJG_Q81]

1. B, E, D, A, C [Option ID = 25863]
2. B, E, C, D, A[Option ID = 25864]
3. A, B, D, C, E [Option ID = 25865]
4. E, A, B, C, D [Option ID = 25866]

82) Arrange the following in chronological order from the earliest to the latest
A. 21 days fast in Aga Khan Palace

B. Death of Kasturba Gandhi on Feb 22

C. Awarded 'Kaiser-i-Hind' medal

D. Began fast for 14 days

E. Studied the Bhagwad Gita and Ruskin's Unto This Last

Choose the correct answer from the options given below

forgaiferRaa ol yreiioradt A Meforpdd @ 3MER UR DICTRUIIRIR RAi-ed bifsre-
A. 3en et Ject A 21 o1 @I 3re191eT

B. 22 weadt @1 dqzan siith o1 forerot



C. Daz-u-f2og uca AFaAreT A fayfera fipar srm

D. 14 o1 w1 31619061 3R b=

E. spragiar siiz :Rwar B o "steg 181 cre” @I sierrel

il fou s1e fraseul 9 2 & Ia= goi ¢

[Question ID = 6601][Question Description = S2_qSNz_PG_BJG_Q82]

1. A, B, C, D, E [Option ID = 25867]
2. B, C, D, A, E [Option ID = 25868]
3. E, D, C, A, B [Option ID = 25869]
4. E, D, A, B, C [Option ID = 25870]

83) Arrange the following in chronological order from the earliest to the latest
A. Indian Opinion

B. Boer War

C. Zulu Rebellion

D. Chauri Chaura Incident

E. Satyagraha Ashram

Choose the correct answer from the options given below

forraiferRaa o1 yrellorast A sIdioiad o 3R UR BICIGAGRIR Rrafi¥erd Hifsre-
A. sdRr s

B. divz gg

C. g fagie

D. disi-dir dvs

E. Jcaee smefpt

oifY feu a1v faescal 3 A A Ia= ol ¢

[Question ID = 6602][Question Description = S2_qSNz_PG_BJG_Q83]
C, D, E [Option ID = 25871]

C, E, D [Option ID = 25872]

A, B, E [Option ID = 25873]

C, A, B [Option ID = 25874]

84) Arrange the following in chronological order of their occurrence (from the earliest to the most recent)
A. Cripps Mission

B. Linlithgow's Statement

C. Shimla Conference

D. August Offer

Choose the correct answer from the options given below

forgotferfRad ol Iotd afed Bl o LR U BICIDIAIRIR RIaf¥erd Hifsie (usd A g o @t i)-
A. fgra fAroret

B. feioiferersit @1 wRIror

C. foreren Jarsiian

D. sprda yrama

il 3w a1 fyaseul 9 A W& 3R goi ¢

[Question ID = 6603][Question Description = S2_qSNz_PG_BJG_Q84]

1. A, B, C, D [Option ID = 25875]
2. A, C, D, B [Option ID = 25876]
3. B, D, A, C [Option ID = 25877]
4. D, A, C, B [Option ID = 25878]

85) Arrange the following in chronological order of their occurrence from the earliest to most recent

A. Dandi March



B. Poona Pact
C. Gandhi-Irwin Pact
D. Liaquat-Nehru Pact

Choose the correct answer from the options given below

forgotferfRad o Iord afee B0l o LR U BICIDIAIRIR RIaf¥erd B (usa A g & ot i)-
A. siE argn

B. yorr Jasiiar

C. aiiefi-s2fdor JEiian

D. fernaa-oles Adsiar

il 3w a1 fyaseul 9 A W& 3R goi ¢

[Question ID = 6604][Question Description = S2_qSNz_PG_BJG_Q85]

A, B, C, D [Option ID = 25879]
A, C, B, D [Option ID = 25880]
B, A, D, C [Option ID = 25881]
D, C, B, A [Option ID = 25882]

A w N =

Eg)

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Right mental resolve is the foundation of all the great achievements provided it is based on the right view.

Reason R: If one believes in racial, social or communal discrimination, one's determination is sure to prove baneful to the
world.

In light of the above statements, choose the most appropriate answer from the options given below

ofi A1 werol 3T a18 3 : v @t sifdrert (A) siiz gk @ a@ (R) @al srRI 3

sifdrperot (A) : wr@ar ey Wl Aol Sucifoeril oI memR 3 Al ag ARIM gofer uR smenfya at

aas (R) : afe orf srechizr, A sierdar AYSIRID c-31d 3 feara wzdar 3 dl SHDI Adbcu FAR @ 1w sraezdia sifirenmu Rrg den
IWRITb el @ el 3 footifind faacul 3 A 76 3az ot ¢

[Question ID = 6605][Question Description = S2_qSNz_PG_BJG_Q86]

Both A and R are correct and R is the correct explanation of A/(A) 3z (R) cleil 318t & 3z (R), (A) &t 31 wmen 2 [Option ID = 25883]

Both A and R are correct but R is NOT the correct explanation of A/(A) 3iz (R) cleil 3@t & udog (R), (A) &I 38 =me=n ot & [Option ID = 25884]
A is correct but R is not correct/(A) & @ ussq (R) @t o1dt & [Option ID = 25885]

. A'is not correct but R is correct/(A) 3t o8t @ weog (R) &t & [Option ID = 25886]

A w N -

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Tirthankara Mahavira has said that every soul has the potential for infinite knowledge, infinite bliss and infinite
spiritual prowess. Considered from this point of view, every living being is the same.

Reason R: Every living being of the world whether man, woman, animal or bird wants to live with honour. Nobody wants to
die of violence or accident. Therefore, we must honour all forms of life as equal to our own life and protect them.

In light of the above statements, choose the most appropriate answer from the options given below

il Gt werol 13w 18 3 & v @ sifdraseret (A) 3 g2 @l ad (R) sl sr 3

siffrperet (A) : eilefas? Herdl of war e b YA sircan 3 sfeid Silel, 3foid J 3R 3feid ARD fem@el 3 5 efte A YA guuil Aarmer
a® (R) : IR @ ft gooft, ugl-ushl, sndt-gay, sft 3 AgaeIgde Sifad ot &bt sco1 3 gHeon ar Far A oI avon ol arsar 3ra: it
SIICHAT & ATHATS Fol AGD Sfidol Bl st 312 Siiz el Sofl Bt

IRt el @ 3irclle 3 foratifesa faaeul 3 A 8 3= gof :

[Question ID = 6606][Question Description = S2_qSNz_PG_BJG_Q87]

1. Both A and R are correct and R is the correct explanation of A/(A) siiz (R) @laii 31d 8 8liz (R), (A) &t 3 =men & [Option ID = 25887]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) cleil 38 3 woq (R), (A) &t 38 == oidt 8 [Option ID = 25888]
3. Ais correct but R is not correct/(A) 3t 3 weog (R) @t aiéf & [Option ID = 25889]
4. A'is not correct but R is correct/(A) 2t a8 8 weog (R) 2t & [Option ID = 25890]

88) Given below are two statements

Statement I: Worship is the daily activity of households in Jainism; useful for social welfare.



Statement Il: The world (Loka) and soul (Atma) are created by God in Jainism.

In light of the above statements, choose the most appropriate answer from the options given below

ofi <1 et Ru sme 3 :

Pl - | St et 3 gatr, ofawml GrI & sl arcll Sfores fapan st weRmvr & fere SwRish
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SWRITb el @ el 3 forifeiRaa famcul 3 A A6t sa= gol ©

[Question ID = 6607][Question Description = S2_qSNz_PG_BJG_Q88]

Both Statement | and Statement Il are correct/emr | 3iiz |l loif 3 & [Option ID = 25891]

Both Statement | and Statement Il are incorrect/aermer | 3iiz || Giail steted & [Option ID = 25892]

Statement | is correct but Statement Il is incorrect/@em | 31 8, fipoqg ®eret |l siea & [Option ID = 25893]
Statement | is incorrect but Statement Il is correct/@erwr | sRica &, fdboqg et |l 2@ & [Option ID = 25894]

A wnN -

89) Given below are two statements

Statement I: True economics never militates against the highest ethical standard just as all true ethics, to be worth its
name, must at the same time be also good economics.

Statement II: True economics stands for social justice, it promotes the good of all equally, including the weakest and is
indispensable for a decent life.

In light of the above statements, choose the correct answer from the options given below

i Q1 erot fu arw 3 :

Dol - | : aemef srefor 3 Icadqe ofifeera dAeid o1 ool off foRIer ol 3lar 3, St =Ml yoR i1 sl A IR, 3196l o[ @ 3eeU Blol D
eI 8 Az 3rea sreforee @
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[Question ID = 6608][Question Description = S2_qSNz_PG_BJG_Q89]

Both Statement | and Statement Il are true/wmemwt | 3iiz |1 cloll 2@t & [Option ID = 25895]

Both Statement | and Statement Il are false/@erer | 3ii || Gl stera 3 [Option ID = 25896]
Statement | is true but Statement Il is false/®epol | 311 8, fpog et |l ser & [Option ID = 25897]
Statement | is false but Statement Il is true/ermel | sRIcI 8, fbog @ere |l 3ét & [Option ID = 25898]

AN wnN =

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Peace psychology seeks to develop theory and practices that prevent violence and conflicts and mitigate their
impact on society.

Reason R: Peace psychology seeks to study and develop viable methods of promoting peace.

In light of the above statements, choose the correct answer from the options given below

ofld Sl ool iR s 3 uep B siftrperet (A) 3R gIR @I ass (R) @ar SR 3

ifdreperet (A) : orifer srelifrsirer @1 3m9rRI B Rigia iR uglern fralRra oo & RerR! & ik chra Fo IS deIr ARIIS 3 IJoid goyia 3
DIl IR
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[Question ID = 6609][Question Description = S2_qSNz_PG_BJG_Q90]

1. Both A and R are true and R is the correct explanation of A/(A) iz (R) clali 3@ 8 3z (R), (A) &I 3@l =r=n & [Option ID = 25899]

2. Both A and R are true but R is NOT the correct explanation of A/ (A) 3z (R) g¥eil 1t & weag (R), (A) &l 3t e ot & [Option ID = 25900]
3. Ais true but R is false/(A) 3@ & uwzoqg (R) 3@t ordt & [Option ID = 25901]

4. Ais false but R is true/(A) 3@t oiét & useqg (R) 3t & [Option ID = 25902]






